SBI CLERK (PRE)-02/2021

Q-1 In the following question, three sentences have been given which may or may not be grammatically correct. Find out the correct sentences
eng and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

A. At present, the firm has four under-construction residential projects in Mumbai and plan to add three-four projects very soon.
B. Industry bulls say domestic asset managers’ profits are growing as they expand.
C. NBFCs are yet to fully absorb the systemic shock following defaults by IL&FS and a consequent liquidity crunch.

01. Only A 02. BothBandC

03. OnlyB 04. Both A and C

05.  All correct
Q-1 In the following question, three sentences have been given which may or may not be grammatically correct. Find out the correct sentences
hi and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

A. At present, the firm has four under-construction residential projects in Mumbai and plan to add three-four projects very soon.
B. Industry bulls say domestic asset managers’ profits are growing as they expand.
C. NBFCs are yet to fully absorb the systemic shock following defaults by IL&FS and a consequent liquidity crunch.

01. Only A 02. BothBandC
03. OnlyB 04. Both A and C
0S.  All correct
Solution for Question 1 Ans Key: 2

In sentence A: ‘plans’ should replace ‘plan’ as the subject (the firm) is singular.

In sentence A: ‘plans’ should replace ‘plan’ as the subject (the firm) is singular.

Q-2 In the following question, three sentences have been given which may or may not be grammatically correct. Find out the correct sentences
and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

A. New rules will be brought in a non-disruptive manner, said RBI governor.
B. India’s savings pool keeps getting bigger and the market is anticipating that a growing portion of them will go into mutual funds.
C. The story had been published from a wire agency feed without modifications to the text.

01. Only A 02. BothBandC
03. OnlyB 04. Both A and C
05.  All correct
Q-2 In the following question, three sentences have been given which may or may not be grammatically correct. Find out the correct sentences

and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

A. New rules will be brought in a non-disruptive manner, said RBI governor.
B. India’s savings pool keeps getting bigger and the market is anticipating that a growing portion of them will go into mutual funds.
C. The story had been published from a wire agency feed without modifications to the text.

01. Only A 02. BothBandC

03. OnlyB 04. Both A and C

05. All correct
Solution for Question 2 Ans Key: 4
eng In sentence B: ‘it’ should replace ‘them’ as ‘it’ refers to a singular subject ‘savings pool’.
hi In sentence B: ‘it’ should replace ‘them’ as ‘it’ refers to a singular subject ‘savings pool’.
Q-3 In the following question, three sentences have been given which may or may not be grammatically correct. Find out the correct sentences
eng and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

A. In the coal allocation, the fingers were pointed at the Prime Minister as he held the coal portfolio for a short while.
B. The anti-corruption movement gained momentum, with rural development activist sitting on fast several times.
C. Coal mines were allotted on a first-come-first-serve basis, without due diligence and much below their realisable potential value.

01. Only A 02. BothBand C



03. OnlyB 04. BothAandC

05.  All correct
In the following question, three sentences have been given which may or may not be grammatically correct. Find out the correct sentences
and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

=)
&

A. In the coal allocation, the fingers were pointed at the Prime Minister as he held the coal portfolio for a short while.
B. The anti-corruption movement gained momentum, with rural development activist sitting on fast several times.
C. Coal mines were allotted on a first-come-first-serve basis, without due diligence and much below their realisable potential value.

01. Only A 02. BothBandC

03. OnlyB 04. Both A and C

05. All correct
Solution for Question 3 Ans Key: 5
eng All correct.
hi All correct.
Q-4 In the following question, three sentences have been given which may or may not be grammatically correct. Find out the correct sentences
eng and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

A. In the spectrum allocation case, it was a minister of the ruling party which was sent to jail.
B. After all, he was a competent technocrat and a sagacious gentleman to hold the office.
C. What is dubbed as a leadership crisis is in effect a challenge arising out of an erosion of trust.

01. Only A 02. Both B and C
03. OnlyB 04. Both A and C
0S.  All correct
Q-4 In the following question, three sentences have been given which may or may not be grammatically correct. Find out the correct sentences

and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

A. In the spectrum allocation case, it was a minister of the ruling party which was sent to jail.
B. After all, he was a competent technocrat and a sagacious gentleman to hold the office.
C. What is dubbed as a leadership crisis is in effect a challenge arising out of an erosion of trust.

01. Only A 02. Both B and C
03. OnlyB 04. Both A andC
05. All correct
Solution for Question 4 Ans Key: 2

In sentence A: ‘who’ should replace ‘which’ as it is referring to ‘the minister’ (singular and living being).

In sentence A: ‘who’ should replace ‘which’ as it is referring to ‘the minister’ (singular and living being).

Q-5 In the following question, three sentences have been given which may or may not be grammatically correct. Find out the correct sentences
eng and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

A. The company expects commercial vehicle business to remain in the slow lane for a few months.
B. The aviation ministry informed the National Company Law Tribunal that they will positively consider any concrete business plan for grounded Airways.
C. As per the Reserve Bank of India’s risk-assessment report, the public sector lender under-reported bad loans by a huge number.

01. Only A 02. BothBandC

03. OnlyB 04. Both A and C

05. All correct
Q-5 In the following question, three sentences have been given which may or may not be grammatically correct. Find out the correct sentences
hi and mark your answer accordingly. If all the sentences are correct, mark your answer (5) i.e., All correct.

A. The company expects commercial vehicle business to remain in the slow lane for a few months.
B. The aviation ministry informed the National Company Law Tribunal that they will positively consider any concrete business plan for grounded Airways.
C. As per the Reserve Bank of India’s risk-assessment report, the public sector lender under-reported bad loans by a huge number.

01. Only A 02. BothBand C
03. OnlyB 04. Both A and C



05. All correct

Solution for Question 5 Ans Key: 4

eng

In sentence B: ‘it’ should replace ‘they’ as it is referring to ‘the ministry’ which is nonliving and singular.

In sentence B: ‘it’ should replace ‘they’ as it is referring to ‘the ministry’ which is nonliving and singular.

In the following question, out of the four phrases given in bold in the passage, choose the one which is out of the context and can’t be the part
of a meaningful passage.

Telecom Regulatory Authority of India’s decision to extend interconnect usage charges comes (A) as a relief for incumbent telecom companies. But
the benefits will not significantly alter the financial position (B) of these telecom companies. Before the tariff hikes, around 30% of operating earnings
of the companies were estimated to have been contributed by mobile termination (C) revenues. The hikes have notably expanded the potential
operating earnings base of these stock exchanges enhancing the (D) mobile call termination charges.

01. A 02. B
03. C 04. D

05. None of the above
In the following question, out of the four phrases given in bold in the passage, choose the one which is out of the context and can’t be the part
of a meaningful passage.

Telecom Regulatory Authority of India’s decision to extend interconnect usage charges comes (A) as a relief for incumbent telecom companies. But
the benefits will not significantly alter the financial position (B) of these telecom companies. Before the tariff hikes, around 30% of operating earnings
of the companies were estimated to have been contributed by mobile termination (C) revenues. The hikes have notably expanded the potential
operating earnings base of these stock exchanges enhancing the (D) mobile call termination charges.

01. A 02. B
03. C 04. D

05. None of the above

Solution for Question 6 Ans Key: 4

Q-7

eng

The passage is about ‘telecom companies’ and the rate cuts whereas part D elaborates the ‘stock exchanges and ‘enhancing of charges’ which
is contextually incorrect.

The passage is about ‘telecom companies’ and the rate cuts whereas part D elaborates the ‘stock exchanges and ‘enhancing of charges’ which
is contextually incorrect.

In the following question, out of the four phrases given in bold in the passage, choose the one which is out of the context and can’t be the part
of a meaningful passage.

The very mechanism of wanting, craving, desiring and proving (A) is a genetically inherited flaw. The child grabs toys and other things, doesn’t it?
Hence the mind starts acquiring and gives itself (B) a false feeling of security. Then it goes on psychologically obsessing about its loved ones (C)
and then one proceeds to school and competes with peers to defame the colleagues (D) and the journey to grab money and power continues.

01. A 02. B
03. C 04. D
05. None of the above

In the following question, out of the four phrases given in bold in the passage, choose the one which is out of the context and can’t be the part
of a meaningful passage.

The very mechanism of wanting, craving, desiring and proving (A) is a genetically inherited flaw. The child grabs toys and other things, doesn’t it?
Hence the mind starts acquiring and gives itself (B) a false feeling of security. Then it goes on psychologically obsessing about its loved ones (C)
and then one proceeds to school and competes with peers to defame the colleagues (D) and the journey to grab money and power continues.

01. A 02. B

03. C 04. D

05. None of the above
Solution for Question 7 Ans Key: 4
eng The passage describes a child’s going through different phases whereas part D states that the child ‘competes with peers to defame the

colleagues’ which is incorrect as one has colleagues at work place and not at the school which makes this phrase inappropriate.

hi

The passage describes a child’s going through different phases whereas part D states that the child ‘competes with peers to defame the
colleagues’ which is incorrect as one has colleagues at work place and not at the school which makes this phrase inappropriate.




eng

In the following question, out of the four phrases given in bold in the passage, choose the one which is out of the context and can’t be the part
of a meaningful passage.

The best course of action emerges when one puts everything in a bigger container, (A) made of compassion. In an organisation, on the work or
family fronts, (B) one has to operate from compassion or one will be a victim of one’s own narrowness. (C) No one is perfect; let’s see elegance in
imperfection and act wisely. (D) Then, a bigger container is created.

01. A 02. B
03. C 04. D

05. None of the above
In the following question, out of the four phrases given in bold in the passage, choose the one which is out of the context and can’t be the part
of a meaningful passage.

The best course of action emerges when one puts everything in a bigger container, (A) made of compassion. In an organisation, on the work or
family fronts, (B) one has to operate from compassion or one will be a victim of one’s own narrowness. (C) No one is perfect; let’s see elegance in
imperfection and act wisely. (D) Then, a bigger container is created.

01' A 02. B
03. C 04. D
05. None of the above

Solution for Question 8 Ans Key: 5

Q-9

All the phrases are contextually correct.

All the phrases are contextually correct.

In the following question, out of the four phrases given in bold in the passage, choose the one which is out of the context and can’t be the part
of a meaningful passage.

A 30-year-old law governing motor vehicles has been subjected to an overhaul by (A) the government in the recently passed Motor Vehicle Act
(Amendment) Bill. While the changes are many, the focus areas include (B) road safety, citizen-government interaction, and last-mile connectivity. With
the UN-defined target being reducing to half the number of global deaths (C) and injuries from road traffic accidents, this bill could have been more
apt (D) and timely.

01. A 02. B
03. C 04. D

05. None of the above
In the following question, out of the four phrases given in bold in the passage, choose the one which is out of the context and can’t be the part
of a meaningful passage.

A 30-year-old law governing motor vehicles has been subjected to an overhaul by (A) the government in the recently passed Motor Vehicle Act
(Amendment) Bill. While the changes are many, the focus areas include (B) road safety, citizen-government interaction, and last-mile connectivity. With
the UN-defined target being reducing to half the number of global deaths (C) and injuries from road traffic accidents, this bill could have been more
apt (D) and timely.

01. A 02. B

03. C 04. D

0S. None of the above
Solution for Question 9 Ans Key: 4
eng The passage describes the merits of the Motor Vehicle Act (Amendment) Bill whereas part D states that the act could have been better which

doesn’t go with the message of the passage.

The passage describes the merits of the Motor Vehicle Act (Amendment) Bill whereas part D states that the act could have been better which
doesn’t go with the message of the passage.

Q-10

eng

In the following question, out of the four phrases given in bold in the passage, choose the one which is out of the context and can’t be the part
of a meaningful passage.

Scientific evidence for the devastating effects (A) of the increasing quantity of anthropogenic emissions on the planet’s climate system is overwhelming.
Yet, it has become harder than ever to (B) persuade world leaders to prioritise the battle against climate change. We are walking towards prosperity
with our eyes wide open (C). The way forward will depend on another country (D) or bloc filling the leadership vacuum.



01. A 02. B
03. C 04. D
05. None of the above

Q-10 In the following question, out of the four phrases given in bold in the passage, choose the one which is out of the context and can’t be the part
hi of a meaningful passage.

Scientific evidence for the devastating effects (A) of the increasing quantity of anthropogenic emissions on the planet’s climate system is overwhelming.
Yet, it has become harder than ever to (B) persuade world leaders to prioritise the battle against climate change. We are walking towards prosperity
with our eyes wide open (C). The way forward will depend on another country (D) or bloc filling the leadership vacuum.

01. A 02. B

03. C 04. D

05. None of the above
Solution for Question 10 Ans Key: 3
eng The passage explains the catastrophic effects of the climatic change whereas phrase C states that ‘we are reaching a prosperous future’ which

is contextually incorrect.

hi The passage explains the catastrophic effects of the climatic change whereas phrase C states that ‘we are reaching a prosperous future’ which
is contextually incorrect.

Q-11 In the following question, a word is given followed by three sentences consisting of the same word in bold type. Choose the sentence/s in
which the given word has been correctly used.

SMEAR

I. Inhis bid to smear me and promote the interests of his client, he went straight for the low road and stayed there.
II. Don't smear a decent person as a racist, a women hater, or a religious nut without any valid point.
II1. People smear your name which is no big deal for them but it is life and death to some poor wretch.

01. Onlyl 02. OnlyII
03. BothIandII 04. Both I and III
05.  All of the above
Q-11 In the following question, a word is given followed by three sentences consisting of the same word in bold type. Choose the sentence/s in

which the given word has been correctly used.
SMEAR

I. In his bid to smear me and promote the interests of his client, he went straight for the low road and stayed there.
II. Don't smear a decent person as a racist, a women hater, or a religious nut without any valid point.
II1. People smear your name which is no big deal for them but it is life and death to some poor wretch.

01. OnlyI 02. OnlyII

03. BothIand]II 04. Both Il and 111

05. All of the above
Solution for Question 11 Ans Key: 5
eng In I, Il and Il sentences, Smear (v) should be used which means — damage the reputation of (someone) by false accusations; slander.
hi In I, Il and Il sentences, Smear (v) should be used which means — damage the reputation of (someone) by false accusations; slander.

Q-12 In the following question, a word is given followed by three sentences consisting of the same word in bold type. Choose the sentence/s in
eng which the given word has been correctly used.

ABHOR

I. Government doctors and health care officials abhor postings in rural areas.
II. Another tactic, which I abhor, was to use pepper, chilli or anything to irritate the hounds' noses.
II1. It is no accident that the abhor in idolatrous reality television is affecting the generations to come.

01. OnlyI 02. Onlyll
03. BothIandII 04. Both II and ITI

05.  All of the above
Q-12 In the following question, a word is given followed by three sentences consisting of the same word in bold type. Choose the sentence/s in



hi which the given word has been correctly used.
ABHOR

I. Government doctors and health care officials abhor postings in rural areas.
II. Another tactic, which I abhor, was to use pepper, chilli or anything to irritate the hounds' noses.
IIL. It is no accident that the abhor in idolatrous reality television is affecting the generations to come.

01. Onlyl 02. OnlyIl

03. BothIandII 04. Both IT and ITT

05. Al of the above
Solution for Question 12 Ans Key: 3
eng In I and Il sentences, Abhor (v) is correct which means — regard with disgust and hatred.

In Ill sentence, Surge (n) should be used which means — an increase/growth.

hi In 1 and Il sentences, Abhor (v) is correct which means — regard with disgust and hatred.
In Ill sentence, Surge (n) should be used which means — an increase/growth.

Q-13 In the following question, a word is given followed by three sentences consisting of the same word in bold type. Choose the sentence/s in
eng which the given word has been correctly used.

SAGACIOUS

I.  When storm clouds start to form, sagacious leaders deal with them before things get out of hand.
II. He was sagacious but prone to dissension and his spirit was that of calmness under fire.
III. Her partner was as silent and sagacious as she was talkative and empty-headed.

01. OnlyI 02. OnlyII
03. BothIandII 04. Both IT and 111
05.  All of the above
Q-13 In the following question, a word is given followed by three sentences consisting of the same word in bold type. Choose the sentence/s in

which the given word has been correctly used.
SAGACIOUS

I.  When storm clouds start to form, sagacious leaders deal with them before things get out of hand.
II. He was sagacious but prone to dissension and his spirit was that of calmness under fire.
IT1. Her partner was as silent and sagacious as she was talkative and empty-headed.

01. OnlyI 02. OnlylI

03. BothIandII 04. Both II and III

05. All of the above
Solution for Question 13 Ans Key: 5
eng In 1, Il and Il sentences, Sagacious (adj.) is correct which means — wise or shrewd.
hi In 1, Il and Il sentences, Sagacious (adj.) is correct which means — wise or shrewd.

Q-14 In the following question, a word is given followed by three sentences consisting of the same word in bold type. Choose the sentence/s in
eng which the given word has been correctly used.

SUMPTUOUS

I. This exquisitely delicate fruit is quite rightly sumptuous in many dessert recipes.
II. The restaurant sells its own line of chocolate candies, brownies, and sumptuous dessert toppings from a retail counter upfront.
IIL. The guests were treated to a sumptuous meal of varied Indian dishes, one tastier than the next.

01. OnlyI 02. Onlyll
03. BothIandII 04. Both II and I

05. All of the above
Q-14 In the following question, a word is given followed by three sentences consisting of the same word in bold type. Choose the sentence/s in
hi which the given word has been correctly used.

SUMPTUOUS



I.  This exquisitely delicate fruit is quite rightly sumptuous in many dessert recipes.
II. The restaurant sells its own line of chocolate candies, brownies, and sumptuous dessert toppings from a retail counter upfront.
II1. The guests were treated to a sumptuous meal of varied Indian dishes, one tastier than the next.

01. OnlyI 02. Onlyll

03. BothIandII 04. Both II and ITI

05. All of the above
Solution for Question 14 Ans Key: 4
eng In 1l and Il sentences, Sumptuous (adj.) is correct which means — splendid and expensive-looking.

In | sentence, Feature (v) should be used which means — be a significant characteristic.

hi In Il and Il sentences, Sumptuous (adj.) is correct which means — splendid and expensive-looking.
In | sentence, Feature (v) should be used which means — be a significant characteristic.

Q-15 In the following question, a word is given followed by three sentences consisting of the same word in bold type. Choose the sentence/s in
eng which the given word has been correctly used.

RELISH

I. He may even relish having some time to walk, read poetry and relax without the electronic gadgets.
II. A few will relish the opportunity of redeeming themselves on a bigger stage.
III. One of the greatest advantages of being an ambivert is that you relish spending time with others, but you can also handle being on your own.

01. Onlyl 02. Onlyll
03. BothIand]II 04. Both Il and I1I

05.  All of the above
Q-15 In the following question, a word is given followed by three sentences consisting of the same word in bold type. Choose the sentence/s in
which the given word has been correctly used.

RELISH

I. He may even relish having some time to walk, read poetry and relax without the electronic gadgets.
II. A few will relish the opportunity of redeeming themselves on a bigger stage.
II1L. One of the greatest advantages of being an ambivert is that you relish spending time with others, but you can also handle being on your own.

01. Onlyl 02. Onlyll
03. BothIandII 04. Both IT and III
05. All of the above
Solution for Question 15 Ans Key: 5

In I, Il and Il sentences, Relish (v) is correct which means — enjoy greatly.

In I, Il and Il sentences, Relish (v) is correct which means — enjoy greatly.

Passage for Question 16, 17, 18, 19, 20, 21, 22 (ST-204CRPPOPRE(21-27E)2020)
eng Passage

Read the following passage carefully and answer the questions given below it.

There is a large gap in the use of public services in the country. The “Gender Gap Index” of the World Economic Forum and its sub-index, “Health and Survival” —
India ranks 108 in the overall index and 147th out of 149 in the sub-index — shine a light on this challenge. Girl children face discrimination even before they are
born and continue to experience bias during their life, including in the provision of nutrition and use of health services. Faced with limited resources, families, in
general, prioritise the healthcare, nutrition and other needs of men at the cost of women. Some cultural factors, such as the reluctance of women in some regions to
consult male doctors, also constrain their access to healthcare services.

The National Family Health Survey (4th round) shows that the main reasons women do not seek healthcare services are because these services are unaffordable,
they are not easily available and there aren’t enough women healthcare providers. Ayushman Bharat PM-JAY seeks to bridge the gender gap in the use of
healthcare services by addressing a key constraint — healthcare costs. Cashless services through PM-JAY are helping to narrow the gender gap in availing
healthcare. Learning from the experience of earlier schemes like the Rashtriya Swasthya Bima Yojana, PM-JAY’s design incorporates several features that will
improve the use of healthcare services by women and girls.

First, families with no adult male members is one of the deprivation criteria for identifying target beneficiaries, which will help a large number of women. Second,
there is no cap on the size of families. A cap of five beneficiaries from a family in earlier schemes worked against women. It was observed that large families
preferred that their male members be beneficiaries. Finally, the packages include a large number of health conditions that exclusively, or primarily, affect women. Of
the 1,393 health benefit packages under PM-JAY, 116 are women centric, 64 are for only men while 1,213 are common to both.

The initial data for utilisation of services under PM-JAY shows that the use of services is more or less evenly balanced among men and women. Of all hospital



admission requests, 52 per cent were for men and 48 per cent were for women. In fact, the gender gap starts to show up at only above 50 years. In the age groups
from 0 to 50 years, use of services by women is either equal to or greater than that by men. It is important to note that some health conditions are prevalent either
only among women or men. Looking at conditions that are likely to affect both men and women equally provides better insights. The disaggregation of data on
utilisation of major specialty services shows mixed patterns. Use by women patients is higher in 10 specialties — OPD diagnostics, radiation oncology, follow-ups,
palliative care, burns management, ophthalmology, pediatric cancer, PHC and surgical oncology. However, in others like pediatric surgery, general medicine, urology
and cardiology utilisation by male patients is higher.

There are variations across states as well. For example, at the national level, 66 per cent of all treatment in orthopedics were received by men. However, in Kerala,
the proportion is 53 per cent while it is much greater in UP and Maharashtra— 70 per cent. There are variations at the level of procedures. For example, within
orthopedics, women are the majority users of packages such as total knee replacement — 57 per cent. There are state-level variations in this respect as well —
with 83 per cent utilisation by women in Kerala, and only 40 per cent in Jharkhand and Punjab.

Among the three major specialty services provided by PM-JAY— oncology, cardiology and nephrology — a majority of the users of oncology services are
women. However, there are large gender gaps in the use of cardiology and nephrology-related services. PM-JAY will need to analyse the reasons for this. Some of
the variation may be explained by the gender-wise difference in the prevalence of various diseases. Men and women may also have varying incidence of certain
diseases because of the degree of exposure to the proximate cause or an individual’s biological disposition. An analysis of these factors will need to be undertaken
to effectively assess the potential gender gap in the use of services.

The overall message from the analysis of initial PM-JAY data is that the scheme seems to be on the right track, even though more effort is needed to achieve total
gender parity. There is no gender-gap when it comes to people seeking several specialty services in many states. Up-to-date data available with PM-JAY will help
in continuously assessing the gender pattern of health-service use, analysing the reasons for any gender-based discrimination and providing cues for corrective
action. Monitoring the disaggregated service utilisation data will help sensitise implementing agencies and district authorities about possible gender gaps. Gaps, if any,
can be addressed by more informed and gender-sensitive planning, including targeted IEC (information, education and communication) campaigns. Women might
need to be informed about their eligibility for the scheme so that they can get their e-cards made and seek treatment in time. In addition, tele-consultations with
women healthcare providers might be required in case there are cultural barriers in consulting with male doctors.

PMIJAY has a strong potential to empower women to take decisions on their health and wipe out the gender gap in use of health services. Within the deprived and
vulnerable population that PMJAY seeks to serve, women constitute a particularly marginalised section. The scheme will be successful only when it can ensure that
women and girls receive their due in the use of healthcare services.

hi Passage
Read the following passage carefully and answer the questions given below it.

There is a large gap in the use of public services in the country. The “Gender Gap Index” of the World Economic Forum and its sub-index, “Health and Survival”
India ranks 108 in the overall index and 147th out of 149 in the sub-index — shine a light on this challenge. Girl children face discrimination even before they are
born and continue to experience bias during their life, including in the provision of nutrition and use of health services. Faced with limited resources, families, in
general, prioritise the healthcare, nutrition and other needs of men at the cost of women. Some cultural factors, such as the reluctance of women in some regions to
consult male doctors, also constrain their access to healthcare services.

The National Family Health Survey (4th round) shows that the main reasons women do not seek healthcare services are because these services are unaffordable,
they are not easily available and there aren’t enough women healthcare providers. Ayushman Bharat PM-JAY seeks to bridge the gender gap in the use of
healthcare services by addressing a key constraint — healthcare costs. Cashless services through PM-JAY are helping to narrow the gender gap in availing
healthcare. Learning from the experience of earlier schemes like the Rashtriya Swasthya Bima Yojana, PM-JAY’s design incorporates several features that will
improve the use of healthcare services by women and girls.

First, families with no adult male members is one of the deprivation criteria for identifying target beneficiaries, which will help a large number of women. Second,
there is no cap on the size of families. A cap of five beneficiaries from a family in earlier schemes worked against women. It was observed that large families
preferred that their male members be beneficiaries. Finally, the packages include a large number of health conditions that exclusively, or primarily, affect women. Of
the 1,393 health benefit packages under PM-JAY, 116 are women centric, 64 are for only men while 1,213 are common to both.

The initial data for utilisation of services under PM-JAY shows that the use of services is more or less evenly balanced among men and women. Of all hospital
admission requests, 52 per cent were for men and 48 per cent were for women. In fact, the gender gap starts to show up at only above 50 years. In the age groups
from 0 to 50 years, use of services by women is either equal to or greater than that by men. It is important to note that some health conditions are prevalent either
only among women or men. Looking at conditions that are likely to affect both men and women equally provides better insights. The disaggregation of data on
utilisation of major specialty services shows mixed patterns. Use by women patients is higher in 10 specialties — OPD diagnostics, radiation oncology, follow-ups,
palliative care, burns management, ophthalmology, pediatric cancer, PHC and surgical oncology. However, in others like pediatric surgery, general medicine, urology|
and cardiology utilisation by male patients is higher.

There are variations across states as well. For example, at the national level, 66 per cent of all treatment in orthopedics were received by men. However, in Kerala,
the proportion is 53 per cent while it is much greater in UP and Maharashtra— 70 per cent. There are variations at the level of procedures. For example, within
orthopedics, women are the majority users of packages such as total knee replacement — 57 per cent. There are state-level variations in this respect as well —
with 83 per cent utilisation by women in Kerala, and only 40 per cent in Jharkhand and Punjab.

Among the three major specialty services provided by PM-JAY— oncology, cardiology and nephrology — a majority of the users of oncology services are
women. However, there are large gender gaps in the use of cardiology and nephrology-related services. PM-JAY will need to analyse the reasons for this. Some of
the variation may be explained by the gender-wise difference in the prevalence of various diseases. Men and women may also have varying incidence of certain
diseases because of the degree of exposure to the proximate cause or an individual’s biological disposition. An analysis of these factors will need to be undertaken
to effectively assess the potential gender gap in the use of services.

The overall message from the analysis of initial PM-JAY data is that the scheme seems to be on the right track, even though more effort is needed to achieve total
gender parity. There is no gender-gap when it comes to people seeking several specialty services in many states. Up-to-date data available with PM-JAY will help
in continuously assessing the gender pattern of health-service use, analysing the reasons for any gender-based discrimination and providing cues for corrective
action. Monitoring the disaggregated service utilisation data will help sensitise implementing agencies and district authorities about possible gender gaps. Gaps, if any,




can be addressed by more informed and gender-sensitive planning, including targeted IEC (information, education and communication) campaigns. Women might
need to be informed about their eligibility for the scheme so that they can get their e-cards made and seek treatment in time. In addition, tele-consultations with
women healthcare providers might be required in case there are cultural barriers in consulting with male doctors.

PMIJAY has a strong potential to empower women to take decisions on their health and wipe out the gender gap in use of health services. Within the deprived and
vulnerable population that PMJAY seeks to serve, women constitute a particularly marginalised section. The scheme will be successful only when it can ensure that
women and girls receive their due in the use of healthcare services.

Q-16 Which of the following messages are NOT conveyed by the author?
eng

01. The factor of having no protection from 02. Data regarding service utilization should be disintegrated to search the cause of gender inequality.
immediate cause needs to be explored.

03. The result recorded while data disintegration 04. The services offered for kidneys related diseases are not accessed equally by men and women.
showed a similar pattern which needs to be
examined.
05. None of the above
Q-16 Which of the following messages are NOT conveyed by the author?

hi
01. The factor of having no protection from 02. Data regarding service utilization should be disintegrated to search the cause of gender inequality.
immediate cause needs to be explored.
03. The result recorded while data disintegration 04.  The services offered for kidneys related diseases are not accessed equally by men and women.
showed a similar pattern which needs to be
examined.
05. None of the above
Solution for Question 16 Ans Key: 3

Explanation — The answer can be inferred from the second last paragraph of the passage.

Explanation — The answer can be inferred from the second last paragraph of the passage.

Q-17 With reference to the passage, which of the following reasons is/are behind the major gap in accessing public services?

01. Inadequate resources are provided to girls 02. Even the requirement of girls related to nutrition is not fulfilled.
while raising them.

03. Mostly women are treated as insignificant or 04. Women are easily defamed by some uneducated people in our society.
peripheral.

05. Both (1) and (2)
-17 With reference to the passage, which of the following reasons is/are behind the major gap in accessing public services?
p 4 g jor gap gp

01. Inadequate resources are provided to girls 02. Even the requirement of girls related to nutrition is not fulfilled.
while raising them.

03. Mostly women are treated as insignificant or 04.  Woimen are casily defamed by some uneducated people in our socicty.

peripheral.
05. Both (1) and (2)
Solution for Question 17 Ans Key: 5
eng Explanation — The answer can be inferred from the first paragraph of the passage.
hi Explanation — The answer can be inferred from the first paragraph of the passage.

Q-18 According to the passage, in which of the following ways gender gaps can be handled?

eng
A. Women should be made aware whether they are eligible to access the scheme and can avail of the health services.

B. Women should feel comfortable to discuss their issues, so lady doctors should be available there for them.
C. Women should be made aware of their strong potential and how to ignore the rest when it comes to their health issues.

01. Only A 02. BothBandC
03. Both A and C 04. OnlyB

05. Both A and B
Q-18 According to the passage, in which of the following ways gender gaps can be handled?

A. Women should be made aware whether they are eligible to access the scheme and can avail of the health services.
B. Women should feel comfortable to discuss their issues, so lady doctors should be available there for them.



C. Women should be made aware of their strong potential and how to ignore the rest when it comes to their health issues.

01. Only A 02. BothBand C
03. Both A and C 04. OnlyB
05. Both A and B

Solution for Question 18

Ans Key: 5

eng

Explanation — The answer can be inferred from the second last paragraph of the passage.

hi

Explanation — The answer can be inferred from the second last paragraph of the passage.

Q-19

eng

Q-19

Which of the following attributes is/are included in PMJAY’S design, as mentioned in the passage?

A. Some families don’t have any male member, in that case, the women should be the ultimate recipient.
B. Women will be getting free education under this Yojana including the requisites.
C. The limit to have only five recipients in total from one family was removed to favour women.

01. Only A 02. BothBand C
03. Both A and C 04. OnlyB

05. Both A and B
Which of the following attributes is/are included in PMJAY’S design, as mentioned in the passage?

A. Some families don’t have any male member, in that case, the women should be the ultimate recipient.
B. Women will be getting free education under this Yojana including the requisites.
C. The limit to have only five recipients in total from one family was removed to favour women.

01. Only A 02. BothBandC
03. Both A and C 04. OnlyB
05. Both A and B

Solution for Question 19

Q-20

Explanation — The answer can be inferred from the third paragraph of the passage.

Explanation — The answer can be inferred from the third paragraph of the passage.

Which of the following is/are NOT among the strong services provided by PMJAY?

A. The services provided for the treatment of tumours.

B. The services provided to cure kidney related problems.

C. The services provided to eradicate low bone density related problems.
D. The services provided to cure abnormalities and problems of the heart.

01. Only A 02. Both B and C
03. Both A and D 04. OnlyB

05. All except C
Which of the following is/are NOT among the strong services provided by PMJAY?

A. The services provided for the treatment of tumours.

B. The services provided to cure kidney related problems.

C. The services provided to eradicate low bone density related problems.
D. The services provided to cure abnormalities and problems of the heart.

01. Only A 02. BothBand C
03. Both AandD 04. OnlyB
05. All except C

Solution for Question 20

Ans Key: 3

Ans Key: 5

eng

Explanation — The answer can be inferred from the sixth paragraph of the passage.

hi

Explanation — The answer can be inferred from the sixth paragraph of the passage.

Q-21

eng

Which of the following statements is/are NOT according to the PMJAY’S data?

A. This Yojana has the potential to make women the decision-maker while accessing healthcare services.

B. This Yojana has empowered women in a way that they no longer need to take the permission of their families to avail education.



C. Today, after so many efforts the gender gap is same as it was recorded before starting this Yojana.

01. Only A 02. BothBandC
03. Both A andD 04. All except C

05. None of the above
Which of the following statements is/are NOT according to the PMJAY’S data?

A. This Yojana has the potential to make women the decision-maker while accessing healthcare services.
B. This Yojana has empowered women in a way that they no longer need to take the permission of their families to avail education.
C. Today, after so many efforts the gender gap is same as it was recorded before starting this Yojana.

01. Only A 02. BothBand C
03. Both A and D 04.  All except C
05. None of the above
Solution for Question 21 Ans Key: 5
eng Explanation — The answer can be inferred after reading the whole passage carefully.
hi Explanation — The answer can be inferred after reading the whole passage carefully.
Q-22 For which of the following services have maximum number of women beneficiaries been recorded?
01. Services which emphasize to cure problems 02. Services which emphasize to provide free education to the girls wanting to study.
related to heart.
03. Services which emphasize to provide free  04. Services which emphasize to cure problems related to tumour.
health check-ups to the women.
05. All except2
Q-22 For which of the following services have maximum number of women beneficiaries been recorded?
01. Services which emphasize to cure problems 02. Services which emphasize to provide free education to the girls wanting to study.
related to heart.
03. Services which emphasize to provide free  04. Services which emphasize to cure problems related to tumour.
health check-ups to the women.
05.  All except2
Solution for Question 22 Ans Key: 4

eng

Q-23

Explanation — The answer can be inferred from the sixth paragraph of the passage.

Explanation — The answer can be inferred from the sixth paragraph of the passage.

In the following question, a sentence has been given and divided into five parts. Choose the part which is contextually odd one.

Safety is the key concern for any new product that comes (A)/to the market and low calorie sweeteners are no exception.(B)/ While low calorie
sweeteners like Sugar Free (C)/ have risen in popularity, myths still exist pertaining (D) to the consumption of potato chips and its alleged side-eftects. (E)

01. A 02. B
03. C 04. D
05. E

In the following question, a sentence has been given and divided into five parts. Choose the part which is contextually odd one.

Safety is the key concern for any new product that comes (A)/to the market and low calorie sweeteners are no exception.(B)/ While low calorie
sweeteners like Sugar Free (C)/ have risen in popularity, myths still exist pertaining (D) to the consumption of potato chips and its alleged side-effects. (E)

01. A 02. B
03. C 04. D
05. E

Solution for Question 23

Ans Key: 5

eng Explanation — The sentence states about ‘low calorie sweeteners’ while part E states about ‘potato chips’ which is irrelevant in the context of the
sentence.
hi Explanation — The sentence states about ‘low calorie sweeteners’ while part E states about ‘potato chips’ which is irrelevant in the context of the

sentence.




Q-24

eng

In the following question, a sentence has been given and divided into five parts. Choose the part which is contextually odd one.

“The pen is mightier than the sword” emphasizes that we must not (A)/ undervalue the power of a small thing such as a needle, which is used for sewing.
(B)/ It implies that a thing as small as a pen can have a huge (C)/ impact on people and society as a whole;(D)/ an impact that even a mighty thing like a
sharp sword cannot achieve.. (E)

01. A 02. B
03. C 04. D
05. E

In the following question, a sentence has been given and divided into five parts. Choose the part which is contextually odd one.

“The pen is mightier than the sword”” emphasizes that we must not (A)/ undervalue the power of a small thing such as a needle, which is used for sewing.
(B)/ It implies that a thing as small as a pen can have a huge (C)/ impact on people and society as a whole;(D)/ an impact that even a mighty thing like a
sharp sword cannot achieve.. (E)

01. A 02. B
03. C 04. D
05. E
Solution for Question 24 Ans Key: 2

Q-25

Q-25

Explanation — The sentence states about ‘pen and sword’ but part B states about ‘the power of a needle’ which is irrelevant in the context of the sentence.

Explanation — The sentence states about ‘pen and sword’ but part B states about ‘the power of a needle” which is irrelevant in the context of the sentence.

In the following question, a sentence has been given and divided into five parts. Choose the part which is contextually odd one.

Books written with pen give us education, knowledge and wisdom (A)/which remain with us forever, we can never pay back (B)/for the tales and stories
told to us in our childhood by our (C)/ favourite actors and cricketers, for those stories (D)/taught us lesson which we preserve for our lifetime. (E)

01. A 02. B
03. C 04. D
05. E

In the following question, a sentence has been given and divided into five parts. Choose the part which is contextually odd one.

Books written with pen give us education, knowledge and wisdom (A)/which remain with us forever, we can never pay back (B)/for the tales and stories
told to us in our childhood by our (C)/ favourite actors and cricketers, for those stories (D)/taught us lesson which we preserve for our lifetime. (E)

01. A 02. B
03. C 04. D
05. E
Solution for Question 25 Ans Key: 4

Explanation — The sentence states about ‘the lessons taught” while part D states about ‘actors and cricketers’ which is irrelevant in the context of the
sentence.

Explanation — The sentence states about ‘the lessons taught’ while part D states about ‘actors and cricketers’ which is irrelevant in the context of the
sentence.

Q-26

eng

In the question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these parts
have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.

(1) The Philippines and the small Pacific (A)/island of Samoa serve as a textbook case (B)/ of the sudden emergence of vaccine hesitancy.(C)

(2) In Samoa, an error in preparing (D)/ the measles, mumps, and rubella (MMR) (E)/injection led to the death of two infants. (F)

01. A-B 02. A-C
03. B-C 04. C-D
05. No Error

In the question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these parts
have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.

(1) The Philippines and the small Pacific (A)/island of Samoa serve as a textbook case (B)/ of the sudden emergence of vaccine hesitancy.(C)



(2) In Samoa, an error in preparing (D)/ the measles, mumps, and rubella (MMR) (E)/injection led to the death of two infants. (F)

01. A-B 02. A-C
03. B-C 04. C-D
0S. No Error
Solution for Question 26 Ans Key: 5
eng Explanation: No Error.
hi Explanation: No Error.
Q-27 In the question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these parts
eng have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.
(1) Once the collegium clears the names, (A)/ the Law Ministry has to put down the recommendation to the Prime Minister (B)/ in three weeks who will in
turn advise the President. (C)
(2) To counter rising hesitant, (D)/about a dozen European countries have already (E)/introduced laws making vaccination mandatory. (F)
01. A-D 02. B-D
03. B-E 04. C-D
05. No Error
Q-27 In the question, each of the two sentences divided into three parts (A), (B), (C) and (D), (E), (F) respectively is given. Any two of these parts
have grammatical errors. Choose the alternative consisting of the number of grammatically wrong parts. If both the sentences are
grammatically correct, choose option (5) i.e. No error.
(1) Once the collegium clears the names, (A)/ the Law Ministry has to put down the recommendation to the Prime Minister (B)/ in three weeks who will in
turn advise the President. (C)
(2) To counter rising hesitant, (D)/about a dozen European countries have already (E)/introduced laws making vaccination mandatory. (F)
01. A-D 02. B-D
03. B-E 04. C-D
0S. No Error
Solution for Question 27 Ans Key: 2
Explanation:
Part (B) - ‘put up’ should be used here in place of put down, because ‘put up’ means ‘put something in a higher position’.
Part (D) — ‘hesitancy’ should replace ‘hesitant’ as a noun is required here.
Explanation:
Part (B) - ‘put up’ should be used here in place of put down, because ‘put up’ means ‘put something in a higher position’.
Part (D) — ‘hesitancy’ should replace ‘hesitant’ as a noun is required here.
Q-28 In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
eng the blanks to make the sentences meaningtully correct.
I. Most of the teams were eliminated from the competition in the first round.
II. Any would be skinned alive competing against the world champion.
A. amateur
B. bungler
C. bohemian
01. Both A and B 02. OnlyB
03. BothBand C 04. OnlyC
0S. All of the above.
Q-28 In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
hi the blanks to make the sentences meaningfully correct.

1. Most of the teams were eliminated from the competition in the first round.
II. Any would be skinned alive competing against the world champion.

A. amateur

B. bungler

C. bohemian

01. Both A andB 02. OnlyB



03. BothBand C 04. OnlyC
05. All of the above.
Solution for Question 28 Ans Key: 1

eng Explanation — Amateur (n) — non-professional.
Bungler (n) - a person who make mistakes.
For other options—
Bohemian (n) - a socially unconventional person.

hi Explanation — Amateur (n) — non-professional.
Bungler (n) - a person who make mistakes.
For other options—
Bohemian (n) - a socially unconventional person.

Q-29 In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
eng the blanks to make the sentences meaningfully correct.

I. The new technology provides greater security against cloning and than the traditional cellular, which uses analog signals.
I1. Hackers can use electronic to trap user names and unencrypted passwords sent over the network.
A. apostatizing
B. stickybeaking
C. eavesdropping
01. BothAandB 02. OnlyB
03. BothBandC 04. Only C
05.  All of the above.
Q-29 In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in

the blanks to make the sentences meaningfully correct.

I. The new technology provides greater security against cloning and than the traditional cellular, which uses analog signals.
II. Hackers can use electronic to trap user names and unencrypted passwords sent over the network.

A. apostatizing

B. stickybeaking
C. eavesdropping

01. Both A andB 02. OnlyB
03. BothBandC 04. OnlyC
05. All of the above.
Solution for Question 29 Ans Key: 3

Explanation — Eavesdrop (v) — secretly listen to a conversation.
Stickybeak (v) - pry into other people's affairs.

For other options

Apostatize (v) — renounce a religious or political belief or principle.

hi Explanation — Eavesdrop (v) — secretly listen to a conversation.
Stickybeak (V) - pry into other people's affairs.
For other options—

Apostatize (v) — renounce a religious or political belief or principle.

Q-30 In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
eng the blanks to make the sentences meaningfully correct.

I. A system of for seven years was established as a transitional preparation for liberty.

11. He watched for quite a while, until the model reached a level that had taken him years of under his father to achieve.
A. principalship

B. courtship

C. apprenticeship

01. Both A and B 02. BothCand D

03. OnlyC 04. BothBand C

05. All of the above.
Q-30 In the following question, two sentences with a blank in each followed by three options are given. Choose the most suitable option(s) to fill in
hi the blanks to make the sentences meaningfully correct.



I. A system of for seven years was established as a transitional preparation for liberty.

II. He watched for quite a while, until the model reached a level that had taken him years of

A. principalship
B. courtship
C. apprenticeship

01. Both AandB 02. Both C and D
03. OnlyC 04. BothBand C
05. All of the above.

Solution for Question 30

eng

Q-31

Q-31

Explanation — Apprenticeship (n) — the position of a trainee.
For other options—

Principalship (n) — The condition, rank or office of a principal.
Courtship (n) — keeping company.

Explanation — Apprenticeship (n) — the position of a trainee.
For other options—

Principalship (n) — The condition, rank or office of a principal.
Courtship (n) — keeping company.

Find the value of variables and state the correct relationship.

3x+2y=29
Tx—4y =17
01. x>y 02. x>y
03. x<y 04. x<y

0S. x=y or relation cannot be established
FL T /I ST hlTor3 TAT Tl Tl ST shitord|

3x+2y =29

Tx -4y =17
01. x>y 02. ny
03. x<y 04. xiy

05. x=y 7T Teer T Aol AT ST ThaT &

Solution for Question 31

Q-32

eng

X=5
y=7
x<y
X=35
y=7
x<y

under his father to achieve.

Ans Key: 3

Ans Key: 3

The sum of the present ages of P, Q, R and S is 70 years. After 5 years the ratio of their ages will become 2 : 4 : 3 : 6. What is the Q‘s present age?

01. 12 years 02. 17 years
03. 23 years 04. 15 years
05. None of these

P, Q, R 3% S &T M FT TWT 70 A9 g1 5 AT AT IAhT AT T STAATT 2 : 4 : 3 : 6 TR Q ¥ AqHIA M FAT 82

01. 129F 02. 1799
03. 2399 04. 159
05. =H q FIE A1

Solution for Question 32

eng

Sum of their ages = (2x +4x + 3x + 6x)—5 x4 =70
15x—20="70

x=6

Q’s age = 24 years

Ans Key: 5



Present age of Q = 19 years

Il T AT TWT = (2x + 4x + 3x + 6x) — 5 x 4 =70
15x -20 =70

X=06
AT =24 99
gﬁ%wwg:waﬁ

Q-33

eng

Find the value of variables and state the correct relationship.

2+2x—-15=0
Y —y-20=0

01. X > y 02. X> y
03. x < y 04. x< y
05. x=y or relation cannot be established

FL T AT AT o1 TAT Tt FFaIee T hrforg |
X+2x-15=0

Y-y-20=0

01. x>y 02. ny
03. x<y 04. xSy

05. x=y 2T Teel TATIOT Tl [hAT ST AT &

Solution for Question 33 Ans Key: 5

Q-34

Q-34

x=3,-5
y=-4,5
Relationship cannot be established

x=3,-5
y=-4,5

T He e TATMAT Al (hIT ST Tl &

A alone can do a piece of work in 48 days. The time taken by A in completing 1/6 of the work is equal to the time taken by B in completing 1/4 of the
work. In what time will A and B together complete the work?

01. 18.5 days 02. 17.75 days
03. 16.25 days 04. 19.2 days

05. None of these
A ST 48 T H FTH 0 T T T 2| FH % 1/6 TR HT T2 FIA § A G 03T TI7 67T 19 % 1/4 TR H1 T FF § B 5T o 7m 9697 &
FITET g1 A ST B 3T UHATY e fohaer 99 § &1 927 81 ST

01. 185" 02. 17.75fe=
03. 16.25few 04. 192 fee
05. =% FFIE Tol

Solution for Question 34 Ans Key: 4

eng

AB=1.1_5.4

6 4
Required answer

= 48x%=19.2 days

A:B= =23

D =
Bl=

A I = 48x%=19_2 &

Q-35

eng

Divide Rs.1301 between A and B, so that the amount of A after 7 years is equal to the amount of B after 9 years, the interest being compounded at 4% per
annum. What is the smaller part?



Q-35
hi

01. 525 02. 625
03. 676 04. 484
05. None of these

AT BF 9 1301 . Frefrg 5, arfe 7 a1 3 arg A £ 7ifer 9 ot 3 sra B Y wfer % swree g7 It g, i a9 Thg i samet 4% 8 | "rer

TR FIT 2

01. 525 02. 625
03. 676 04. 484

05,z & 7S A

Solution for Question 35

Ans Key: 2

eng

T ]
X162 | —(301-x)x[1+ 2
100 100

X 4
S RE
1301-x 100

On solving x=676
Smaller part = 1301 - 676 = 625
Larger part = 676

Q-36

Q-36

7 ~ O

x[1+-2 | =(1301-x)x[ 1+ 2|
\ 100 ) ' 100 )
X _(4 4 \’

1301-x | 100

T T W, x=676

FTaT 90T = 1301 - 676 = 625

=T WRT = 676

What will come in place of question mark (?) in the following question?

124 x13.4x11.2-149%x14=2

01. 1820.240 02. 1790.140
03. 1810.230 04. 1840.132
05. None of these

e w1 T s g (2) 3 T U ST AT

124 x13.4x11.2-149%x14=?

01. 1820.240 02. 1790.140
03. 1810.230 04. 1840.132

05. T & FrE AT

Solution for Question 36

Ans Key: 4

eng 1860.992 — 20.86 = ?
?=1840.132
hi 1860.992 — 20.86 = ?
?=1840.132
Q-37  What will come in place of question mark (?) in the following question?
eng
7254 x 16 — 724 + ? =876 x 72 + 86890
01. 36000 02. 35480
03. 34622 04. 36420
05. None of these
Q-37 9 T HwETESE g (?) F T 9T T AET?
hi

7254 x 16 — 724 + ? =876 x 72 + 86890



01. 36000 02. 35480
03. 34622 04. 36420
05. =% ¥ F1E TET

Solution for Question 37

Ans Key: 3

eng

116064 — 724 + 7 = 149962
?7=149962 — 116064+724
?7=34622

1116064 — 724 + ? = 149962
?7=149962 — 116064+724
?=34622

Q-38

eng

Q-38

What should come in place of the question mark (?) in the following question?

344,439
35+15+410 ?

01. o7 02. o7
T %6

03. I 04. £1
1010 510

05. None of these
e ser ® seram=s =g (2) % I 9% F47 71 A

3, 44 439

01. g7 02. of
816 %6
03. yaq7_ 04. =1
1033 16

05. =H ¥ HIS TRt

Solution for Question 38

3+1+4=8
3 4 3
S 5 S i
5 5 10
7:91
1

3+1+4=8

Ans Key: 2

Q-39

eng

What will come in place of question mark (?) in the following question?

|7-85]|=40

01. 1250r-125 02. 45 or-45
03. 450r 125 04. -450r 125

05. -125or 45
e wor & weEm=s e (2) 3w O =17 9T e

|7-85]=40

01. 12537-125 02. 4577-45
03. 4597125 04. 4577125
05. -1257T145

Solution for Question 39

Ans Key: 3

eng ?7-85=-40 ?-85=40
?7=45 ?2=125
hi 7-85=-40 ?-85=40



?7=45 ?7=125

Q-40

eng

Q-40

‘What should come in place of the question mark (?) in the following number series.

53 3 5 15 7

01. 27 02. 45
03. 38 04. 69
05. 77

fReferfed wem T § waar=s =g (2) F T 9% #4947 A

53 3 5 15 7

01. 27 02. 45
03. 38 04. 69
05. 77

Solution for Question 40

Ans Key: 4

eng

Q-41

Q-41

5 ? 3 5 15 7
x1-2  x2-3 x3-4 x4-5 x5-6

5 3 3 5 12 ?
x1-2  x2-3 x3-4 x4-5 x5-6

What will come in place of question mark (?) in the following question?

1478.4 = 56 + 66.8 x 57=(? x 3) + (34.5x34)

01. 890 02. 4735
03. 8475 04. 743

05. 887
Frerfertaa w1 § werar=a =g (2) F 2 92 T A

1478.4 + 56 + 66.8 x 57 = (2 x 3) + (34.5%34)

01. 890 02. 4735
03. 847.5 04. 743
05. 887

Solution for Question 41

26.4+3807.6=3x? + 1173

Ans Key: 5

2661 =3 x ?
7 =887
hi 26.4+3807.6=3 x? +1173
2661 =3 x?
? =887
Q-42 What will come in place of question mark (?) in the following question?
eng 5
|'12+2J§:| - 2:J20 +164
01. 48 02. 24
03. 12 04. 6
05. 96
Q-42 FwfafEd w1 § war=s e (?) F S0 9% F7 S
hi

_ 2
[12+245| =2+ /20 + 164

01. 48 02. 24



03. 12 04. ¢

05. 96
Solution for Question 42 Ans Key: 2
eng 144+ 20+ 485 = 7x 2/5 + 164

?7=24
o 144+ 20+ 485 = 7x 2/5 + 164

7= 24
Q-43  What should come in place of the question mark (?) in the following number series.
eng

11 25 ? 56 73 91

01. 40 02. 38

03. 34 04. 45

05. 32
Q-43 ofoiad d&ar g@ar § waar=s =g (?) F TI 92 347 SEA?
hi

11 25 2?2 56 73 91

01. 40 02. 38

03. 34 04. 45

05. 32
Solution for Question 43 Ans Key: 1
eng 11| %5 '|7 ?6 7|3 91

+1i4 +‘|[5 +‘]|6 +‘||7 +‘|8

+1 ¥ +1 +1

hi 11 25 '|7 ?5 7|3 91

+14  +15 +1|6 +1|7 +‘|8

+:1 +1 +1 +1

Q-44 What should come in place of the question mark (?) in the following question?
eng

6425.25+31.625+ 1.310="?

01. 6458.185 02. 6648.285

03. 6712.385 04. 7458.285

05. None of these
Q-44 FwfaiEd w1 § war=s =g (?) F S0 9% 77 919 S22
hi

6425.25+31.625+1.310="

01. 6458.185 02. 6648.285

03. 6712.385 04. 7458.285

05,z & A1 st
Solution for Question 44 Ans Key: 1
eng 7 =6458.185
hi 7 =6458.185
Q-45 What should come in place of the question mark (?) in the following question?
eng

Q-45

5.4 x7?x12.6=258.552

01. 238 02. 29
03. 33 04. 35
05. 3.8

Fraferfer wor & wert=eg (2) % =0 9% 91 /1 S 2



5.4 x7x12.6=258.552

01. 238 02. 29
03. 33 04. 35
05. 3.8

Solution for Question 45

Ans Key: 5

eng .. 258552

hi . 58582

T 126%x54

Q-46 What will come in place of the question mark (?) in the following question?

eng
‘3—‘of76% of300-16="2

01. 145 02. 155
03. 165 04. 109

05. None of these
Q-46  fRwferied wor § werar=e =g (?) F T 92 7 S

hi

3OOEFT76%EF.T% -16=2

01. 145 02. 155
03. 165 04. 109

05. =% FFHIE T2
Solution for Question 46

eng 3 76x300
47100
171-16=7
?=155

-16="7

hi 3 76x300
47100
171-16=2
=155

-16="7

Q-47 ‘What should come in place of the question mark (?) in the following number series.

eng

16 12 18 ? 324 3888

01. 36 02. 48
03. 54 04. 72

05. 144
Q-47 TAwfafad dear g@ar § wrar=s =g (?) F T 92 #7497 JEEm?
hi

16 12 18 2 324 3888

01. 36 02. 48
03. 54 04. 72
05. 144

Solution for Question 47

Ans Key: 2

Ans Key: 3

eng 1 (|5 12 1? i 3?4 38|88

x.75 x15 x3 xB x12

hi 1!|3 12 1? " 3%4 3E|§88

x75 x15 %3 xB x12




Q-48 What should come in place of the question mark (?) in the following number series.

eng
437 780 268 997 ? 1328

01. 437 02. 648
03. -437 04. 3
05. 0

Q-48 fAwforfed st saar § wrar=s =g (?) F T 92 #7497 A

437 780 268 997 ? 1328

01. 437 02. 648
03. -437 04. -3
05. 0
Solution for Question 48 Ans Key: 4
eng +73,-8% +9% 103, + 113
hi +73,- 8% +93,.10% +113
Q-49 What should come in place of the question mark (?) in the following number series.
100 180 294 448 ? 900
01. 896 02. 648
03. 792 04. 843
05. 698
Q-49 FwfaiEd ST @ § Taar=e =g (?) F T 9 F47 A2
100 180 294 448 ? 900
01. 896 02. 648
03. 792 04. 843
05. 698
Solution for Question 49 Ans Key: 2

100 180 294 448 2 900
5.52 B-62  7-72 882 992 10-107

cng

100 180 294 448 7 900
5u52  ERE T2 88 9@ 10107

Q-50 A boat covers 75 km downstream in 6 hours. If the speed of the current is 1/5 of its downstream speed, in what time will it cover a distance of 105 km

eng upstream?
01. 12 hours 02. 15 hours
03. 14 hours 04. 18 hours

05. None of these

Q-50 UFTE 6 He H 75 T 9T F ATHRA T TT FLAT 2 | AT ST T AT THDT STATE AT T 1/5 2, a1 fovaey 7977 § 77 105 Tl &1 g emen

hi  TTaRe aF FIAT 2

01. 1272 02. |5+

03. 14+ 04. 18T

05. =8 qFIE A5l
Solution for Question 50 Ans Key: 3
eng Downstream speed = 75/6 = 12.5 km/hr.

Speed of the current = 12.5/5 = 2.5 km/hr.
Speed of boat = 12.5-2.5 = 10 km/hr.

Now upstream speed = 10 — 2.5 = 7.5 km/hr.
Time = 105/7.5 = 14 hrs.



Q-51

eng

SITATE I = 75/6 = 12 .5 ThH1/5eT
g o T = 12.5 /5 = 2.5 frefiyeeT
AqTE A AT = 12 .5-2.5 = 10 FFH/==T

A, Teavarg Td = 10 - 2.5 = 7.5 fawet/=er

AT =105/7.5=14 %<

What will come in place of question mark (?) in the following question?

4
e 2
2| -t
01. 24 02. 32
03. 48 04. 96

05. Cannot be determined

FraferfEr wor & weramas g (2) 3 T 9% 1T A

4
£ i 2
| -8
01. 24 02. 32
03. 48 04. 96

05. FRaifa i Frasa g |

Solution for Question 51

Q-52

eng

[@)°1 =)’
[(16)%]*= (8)"
162 = (8)°

8§24 x 224 — (3)
824 x (23)8 _ (8))
8% x (8)%=(8)’
?2=24+8=32

[42)0)* = (8)’
[(16)°]* = (8)°
168#= (8)"

8§24 x 224 — (8)?
824 x (238 = (8)?
824 % (8)8 i (X)"’
9 =94 8 =32

Find the value of variables and state the correct relationship.

2x+4y=-1
3x—4y=10
01. x>y 02. xzy
03. x<y 04. xSy

05. x=y or relation cannot be established

T T | AT T TAT TRt Fwaree w1 frfory|

2x +4y=—1
3x—4y=10
01. x>y 02. xzy
03. x<y 04. xSy

05. x=y T Teer TATIOT A2t 2T ST Tt

Solution for Question 52

eng

x=1.8
y=-1.15

Ans Key: 2

Ans Key: 1



X>y

hi x=1.8
y=-1.15
x>y
Q-53  Find the value of variables and state the correct relationship.
eng
X2 = 156.25
Y =2197
01. X>y 02. X2y
03. x < y 04. x< y
05. x=y or relation cannot be established
Q-53 =0 T AT ST IS0 TAT Tl THee TT0q it |
hi

x2=156.25
Y =2197
01. x>y 02. xzy
03. x<y 04. xSy

05. x =y 7 Haer T A1 36T ST JehdT €

Solution for Question 53

Q-54

Q-54

x=12.5
y=13
x<y

x=12.5
y=13
X<y

Find the value of variables and state the correct relationship.

X2 —29x +204=0
y*—38+357=0

01. x>y 02. ny
03. x<y 04. xgy

0S. x=y or relation cannot be established

FL[ T HIA ST T T9T Hat Faleey F7iua hifora|

X2—29x+204=0
y?—38+357=0

01. x>y 02. ny
03. x<y 04. xSy
05. x=y T Fayg EATTOq T 6T ST HFaAT §

Solution for Question 54

Ans Key: 3

Ans Key: 4

eng

x=12,17
y=17,21
X<y

x=12,17
y=17,21
X<y

Q-55

eng

The tens digit of a three digit number is 2. If the digits at units and hundreds places are interchanged then the number thus formed is 495 more than the

previous one. Also the sum of the units digit and hundreds digits is 11. Then what is the number?

01. 427 02. 328
03. 526 04. 229
05. None of these



A ST T UF HEAT KT IGTS HT o0 2 1 TT THTS ¥ Hh2 o T F 0] 7 STd | Fae (23T 7T 47 30 TR I HEAT Tgel aTedT Feam

495 AT | THE STATAT THTS & 3 ST TS 6 3 HT AT 11 g | AT H&AT FAT 5?2

01. 427 02. 328
03. 526 04. 229
05. =i 7 AT T

Solution for Question 55

Ans Key: 2

eng

Let units digit be x , tens digit be y and hundred digits be z.
Then, number = 100z + 10y + x
Giventhat,y=2x+z=11——1)
Now, (100x + 10y + z) — (100z + 10y — x)= 495
99x — 99z = 495
x—z=5—2)
x+z=11——@3)
On solving (1), (2) and (3), we get
x=8y=2,z=3
Hence , the required number is = 100x 3+ 10 x 2+ 8
=300+ 20 + 8 =328

Q-56

Q-56

HTAT TS X, Tgl y AATHFS R AF 28

qT H=AT = 100z + 10y + x

g, y=2x+z=11——1)

4, (100x + 10y + z) — (100z + 10y — x)= 495

99x — 99z = 495

x—z=5—-2)

x+z=11——03)

(1), (2) T9T (2) FT T FLA L TH TTH F2I
x=8y=2,z=3

qq: AT AT E = 100x 3+ 10 x 2 + 8
=300 +20 + 8 =328

The marked price of A is Rs 900 more than its cost price. When a discount of Rs 450 is allowed a profit of 25% is earned. At what price should A be sold

to earn a 37.5% profit?

01. Rs.2375 02. Rs.2275
03. Rs. 2575 04. Rs. 2475
05. None of these

AT SThd qoT 30 FT oI T 900 FTF AT g1 T 450 FF T e T AT AT 25% FT ATH ST 3T TATI 37.5% FT AT AT et o forw

= e g o 9= ST =R

01. 2375 %q7 02. 2275 =7
03. 2575 %7% 04. 2475 7%
05. =% T IS AT

Solution for Question 56

Ans Key: 4

eng

LetCPbex.

Then, MP = x + 900

SP =x + 900 — 450

= (xx125)/100

x = 1800

Now, SP = 1800 x(137.5/100) = Rs. 2475

L RIERE P
qT ST 7o = x + 900
s g7 = x + 900 — 450
= (xx125)/100
x = 1800
e fasear g7 = 1800 x(137.5/100) = 2475 &0

Q-57

eng

The average age of the employee in a company is 23.5 years. And the average of the males in the company is 25.2 years and that of the females is 23.2

years. Find the ratio of the number of males to the number of females in the company.



01. 17:3 02. 3:17
03. 12:5 04. 5:12
05. None of these

Q-57  UF FUAT H FHATRAT A sfad oy 23.5 a9 g1 3% FOAT § TEOT A7 9 o 25.2 a9 8 o7 Afgarsdt £7 offaq g 23.2 a9 g Fa+ § gigara
hi T TEAT T [EUT T FEAT H SATATT AT i |
01. 17:3 02. 3:17
03. 12:5 04. 5:12
05. i & T
Solution for Question 57 Ans Key: 2
eng Male Female
252 23.2
23.5
0.3 : 1.7
required answer =3 : 17
hi et wiga
252 232
23.5
0.3 : 1.7
FfE I =3:17
Q-58 A man invests Rs. 32000 in a scheme which offers simple interest at the rate of 12 p.c.p.a. for two years. At the end of two years, he reinvests the principal
and interest earned in another scheme which offers compound interest at the rate of 20 p.c.p.a. What will be the total interest earned by the man at the end
of 4 years?
01. 25139.2 02. 26714.8
03. 26420 04. 29394
05. None of these
Q-58 U ATEHT UHF AT H 32000 FH Z1 a9 F forw ferer w2ar & S 12 Ffaera i W i % § FE0r s475 T34 FdT & | &7 aul 6 dd H, 98 TH
ST TS H AT HAGT ST SATS T el ST T ZATIT 9T FAT & ST 20 ST Si a6 i1 3T F Fohg (g o371 T&17 FAT 21 4 T F
H AT ZTT AT A TS FAT g2
01. 25139.2 02. 26714.8
03. 26420 04. 29394
05. =8 FFTE TS
Solution for Question 58 Ans Key: 1
Required answer
124 120 120
=32000%x — = ——=x——-32000=251392
100 100 100
i EETIEACATES
124 120 120
= 32000 —x —x———32000=25139 2
100 100 100
Q-59 The sum of the lengths of two trains A and B is 696 m. The ratio of the speed of A to that of B is 6 : 7. The ratio of the time to cross an electric pole by
eng train A to that by B is 5 : 4. Find the difference between the lengths of the two trains. (in meter)
01. 18 02. 27
03. 24 04. 20
05. None of these
Q-59 AT AT B #T QTS T T 696 Hex g1 ATAT B T A T AT 6: 7€ | &7 A TAT B ZIT fASTeAT F U @ &1 I FA H 1 G077 FT
hi ATATT 5 : 4 & | FIAT o1 Al FATS T AT TG Hrord| (FieT 7)
01. 18 02. 27
03. 24 04. 20
05. i & T
Solution for Question 59 Ans Key: 3
eng Ratio of speeds=6: 7



Ratio of time =5 : 4
Ratio of lengths =6 x 5: 7 x 4

=15:14

Now, 15 + 14 =29 == 696

1=24

Hence, the difference of length between the two trains = 24

hi T T ST = 6: 7
THT AT SAAITT = 5: 4
FATS T ATITA =6 % 5: 7 x 4
=15: 14
A, 15+ 14 =29 = 696

1=24

AT, AT 21 AT SAATS 6 o1 qT =24

Q-60 A mixture of 56 litre milk and 30 litre water is in a container. X litre milk and X litre water are added in it to form a new mixture. If 20% of the new mixture
eng is 36 litre, then find the value of x.

01. 47 liter
03. 25 liter

05. None of these
Q-60  TF T F 56 +fie¥ T ST 30 SeT TTHT HT (707 1 T 47 707 F97 5 forw =7 [Fqor § X e o7 oY X #ffe? a1 fFemr m@m If® 90
TorsToT T 20%, 36 HATeT 2, a1 X FT A A1 Fifor

01. 47 Hrex
03. 25rex
05. o7 A TS T
Solution for Question 60
20% == 36
100% = 180
56 +x+30+x=180
2x =94
x =47

20% == 36
100% = 180
56 +x+30+x=180
2x =94
x =47

02. 32 liter
04. 64 liter

02. 32 T
04. 64 frex

Passage for Question 61, 62, 63, 64, 65 (ST-59 SBI CLERK PRE (36-40) 2018)

eng Passage

Study the following table carefully and answer the questions.

Schools Total Ratio between boys Price of ice-cream of
Participating |number of | and girls different
in a picnic students flavours /piece
B G Chocolate | Normal
A 1875 13 12 45 25
B 2925 49 68 45 25
C 1998 11 7 45 25
D 2068 1 3 45 25
hi Passage
frerferfa ameoft 1 eamgds stegaaa i sie st 1 s difsm)
fawfe BTl B oD IR ASfHa & fafr= srdw-wm &
wfefaa TA deEn | 9\ o1 Ieua Telax B B/ T
et B G Afdeie KLkl
A 107 C 4= el AC -e

Ans Key: 1




B 2925 49 68 45 25
c 1998 11 7 45 25
D 2068 1 3 45 25

Q-61 Amount of money spent on ice-cream of chocolate variety on girls of school A is how much greater/lesser than the amount of money on ice-cream of
eng normal variety on boys of school C.
01. Rs.30525 02. Rs.40500
03. Rs.9925 04. Rs.9975
05. None of these
Q-61 T AT ASTHIT TT ATl ATSHHIH T @ o0l AT G719 Tt C F ASHI T ATHT STSHATH T2 GH 61 T G2y & e srferw/aa 8 2
hi
01. %30525 02. %.40500
03. %9925 04. %9975
05. None of these
Solution for Question 61 Ans Key: 4
eng Amount of money on ice - cream of chocolate variety on girls from school A =900 x 45 = 40500
Amount of money on ice - cream of normal variety on boys from school C = 1221 x 25 =30525
Required difference = 40500 - 30525 = Rs.9975
A A FHT ASTHAT T ATHeIE THIL T AZHH0H T @ 0T AT G197 = 900 x 45 = 40500
TRA C T ASHI T AT THTL 0T SASHh T T @ o0l T g01er = 1221 x 25 = 30525
9T (=% = 40500 - 30525 = Rs.9975
Q-62 What is the average expenditure on ice-cream of chocolate variety on girls from school B and C?
01. Rs.55722.5 02. Rs.55732.5
03. Rs.55742.5 04. Rs.55222.51
05. None of these
Q-62 A B Y C & AETHAT UT Alehole THT T SEh1H 97 TR 37 Sieq =77 7 & 2
01. %55722.5 02. %55732.5
03. %.55742.5 04. %.55222.5
05. ==H T TS Tl
Solution for Question 62 Ans Key: 2

170045 +777 245
Required average expenditure on girls from school Band C= ———
=Rs.55732.5
- T B AT C & At o fie s sy = L0043 7774
2
=%.55732.5

Q-63 Amount of money spent on ice-cream of normal variety on boys of school C is what percent of amount of money spent on ice-cream of chocolate variety
eng on girls of school D?

01. 43 02. 51

03. 38 04. 53

05. None of these
Q-63  TEA C H TAEHI ¥ ATHTH SATSHAIH T GH I AT G197 Tt D H ASTHAT TT Aohele SATSH T T @ o0l AT o719 7 Fohasr afqerd g 2
hi

01. 43 02. 51
03. 38 04. 53
05. =% T IS AT

Solution for Question 63

Ans Key: 1

eng

Amount of money spent on ice-cream of normal variety on boys of school C = 30525
Amount of money spent on ice-cream of chocolate variety on boys of school D = 69795

AnEAE



Required % = === 100 =43%
69795

hi TFA C % TSI T A THTL 0 AEHAH T2 @ 0] T G0 = 30525
THA D A AT 9% AThere 1T T AT I @ it T g=27fer = 69795
aeftz %= 39323 100=43%
69795
Q-64 Find the average expenditure on boys of all the schools who ate chocolate ice-cream?
eng
01. Rs.44320.5 02. Rs.44302.5
03. Rs.45320.5 04. Rs.44330.5
05. None of these
- G EETIES T = AT ARl )
64 T EEEEIREE IR eI G ENIED] Fiehole ATSERA GTAT AT 2
hi

Ans Key: 2

01. +.44320.5 02. +%.44302.5
03. %.45320.5 04. %.44330.5
05. =it & FrE
Solution for Question 64
Required average expenditure = | P12l RS EE
= Rs.44302.5
afiro s =g = | 075+1225+1221+517) iz
= Rs.44302.5

Q-65

Q-65

What is the ratio between the total amount of expenditure on ice-cream of both varieties on girls from all the schools to the total amount of expenditure on

ice-cream of both varieties on boys from all the schools ?

01. 197:224 02. 179:222
03. 179:221 04. 179:224
05. None of these

AT TFAL 1T ASTHRAT T AT THIL 61 SATSHATH T S0 1 HeT LA ST THT AT 6 A1 T GAT THTL T A0 T AT 61 FeA (A

A= ST FAT B2
01. 197:224 02. 179:222
03. 179:221 04. 179:224
05. =78 FFIE T2

Solution for Question 65

cug

Required ratio = (4928 x 70) : (3938 x 70) =224 : 179

Ans Key: 4

hi T ST = (4928 x 70) : (3938 x 70) =224 : 179

Q-66 The following questions are based on five words.

en

¢ MAN CAN TUB PUB NOT

If all the words are arranged in alphabetical order from left to right, then which words would be the third word from the right?
01. MAN 02. CAN
03. PUB 04. NOT
05. TUB

Q-66 fAwfafaa wa ai= asat aTaraTiRa 2

hi

MAN CAN TUB PUB NOT

Tfs Y or=at &7 AT0 | IT FUHTAT F HF § Fedd AT STar g, T Al 9T 2758 T3 & 16T 058 gRIT?

01. MAN 02. CAN
03. PUB 04. NOT



05. TUB

Solution for Question 66 Ans Key: 4
eng MAN CAN TUB PUB NOT
CAN MAN NOT PUB TUB
hi MAN CAN TUB PUB NOT
CAN MAN NOT PUB TUB
Q-67 The following questions are based on five words.
en
& MAN CAN TUB PUB NOT
If the first and third letter in each of the word are interchanged, how many words will not be started with a vowel?
01. More than four 02. Two
03. Three 04. One
05. Four
Q-67 fwfwfad vy o= arsaf v sraTid g1
hi
MAN CAN TUB PUB NOT
7w orex # TEa o T orerw s § Faer R Srar 2, v e ores = & gF et e
01. =17 § faF 02. =7
03. &9 04. TF
05. 9T
Solution for Question 67 Ans Key: 1

Q-68

MAN CAN TUB PUB NOT
NAM NAC BUT BUP TON

MAN CAN TUB PUB NOT
NAM NAC BUT BUP TON

The following questions are based on five words.

MAN CAN TUB PUB NOT

If all the words are arranged in alphabetical order from left to right, then how many letters are there between the third letter of the third word from the left

and second letter of the second word from the right?

01. 2 02. 5
03. 0 04. 7
05. 4

et wr i = ers3t a7 srgTieg €1

MAN CAN TUB PUB NOT

T2 Tt eTe31 T T4 & 7T AUHTAT 6 HF § TATEAT 67T STAT &, qT T8 H 6L 9768 6 A6 &L AT T3 F TAY M52 6 THL T F 91 §

e stere 82

01. 2 02. 5
03. 0 04. 7
05. 4

Solution for Question 68

Ans Key: 3

eng

MAN CAN TUB PUB NOT
CAN MAN NOI. PUB TUB

hi

MAN CAN TUB PUB NOT
CAN MAN NOI. PUB TUB

Q-69

eng

The following questions are based on five words.

MAN CAN TUB PUB NOT



If the first and second letter in each the word are changed to the previous alphabet according to the English alphabetical order, how many of them will have

vowels?

01. One
03. Three

05. None of these
frrerforfra wo i = ers3f aTsraTig €1

MAN CAN TUB PUB NOT

TS T 957 % Tg 3T TEL AEAT HT SFUSH AVHTAT FHH o AT Tl 97 & Fao AT ST &, qT 379 & Fohae oreat # w2 g

02.
04.

Two
More than three

01. w% 02. =T
03. = 04. i & srferw
05. zit & e T
Solution for Question 69 Ans Key: 1
eng MAN CAN TUB PUB NOT
LZN BZN STB OTB MNT
hi MAN CAN TUR PUR NOT
LZN BZN STB OTB MNT
Q-70 In each of the following questions, relationship between different elements is shown in the statements. The statements are followed by two conclusions
numbered I and II. Study the conclusions based on the given statements and select the appropriate answer.
Statements: S<T<O=Y>P>Q>C>G=V
Conclusions:
I. S<Y
ILV>C
01. Ifonly Conclusion I is true 02. Ifneither Conclusion I nor Conclusion I is true
03. Ifonly Conclusion II is true 04. Ifboth Conclusion I and Conclusion II are true
0S. Ifeither Conclusion I or Conclusion II is
true
Q-70  Forwferfre e swor , sFoqett & FAforer et 3 afver sy Rt T 21 %o, Ao 1 ofvw 1136 21 ool a6r g she &1 P a7 s

ALY I T T e F7 3T 3=a STL FT F97 FL|

FIT:S<T<O=Y>P>Q>C>G=V
Ao
L. S<Y
ILV>C

0L g %ad (qoay | 64 gl
03. fx Faer fAer I 7o
05. orf 77 a7 fAewe [ 97 A 11 @< )

Solution for Question 70

02.

04.

Tl A ol (9o [ ¥ 9 gl (4w U Hc gl
7ty e [ i< Ao 11 391 @ 3

Ans Key: 1

eng I. S<Y (TRUE)
II. V>C (FALSE)
hi L S<Y (HA)
II. V= C (3TF )
Q-71 In each of the following questions, relationship between different elements is shown in the statements. The statements are followed by two conclusions
eng numbered I and II. Study the conclusions based on the given statements and select the appropriate answer.

Statements: Y>7Z>Q>W>G=V;P>G=0

Conclusions:
L. P<Q
ILP>W

01. Ifonly Conclusion I is true
03. Ifonly Conclusion II is true

05. Ifeither Conclusion I or Conclusion II is

02.
04.

If neither Conclusion I nor Conclusion II is true

If both Conclusion I and Conclusion II are true



Q-71
hi

true
fAeferferd sers wor ®, Foet § fafrer acat & = deer feamam w3 81 e, e 187 1% 37 Aot &7 siqeeor 3 81 30 T woei %
AT U TSR 7 reqg 3 3T 3fa ST T 99T F:1

FITY>Z>Q>W=>G=V;P>G=0
Ao

IL. P<Q

ILP>W

01. =fg Fae Aed [9e7 8
03. =fy Fae Aod 197 8
05. rfg 71 a1 Aoy [ 31 Ao 119 g

Solution for Question 71

02. Ffg 7 qr Aoy [ 37 7 & Ao 11 57 21

04. rfy e 1 &7 Aoy 1 241 a7 81

Ans Key: 2

eng I. P<Q (FALSE)

IL. P> W (FALSE)
hi I P<Q (38A)

I. P> W (319A)
Q-72 In each of the following questions, relationship between different elements is shown in the statements. The statements are followed by two conclusions
eng numbered I and II. Study the conclusions based on the given statements and select the appropriate answer.

Statements: A>C>D>E;F>G=H<A

Conclusions:

I. A>F

ILF>A

01. Ifonly Conclusion I is true 02. [fneither Conclusion I nor Conclusion II is true

03. Ifonly Conclusion II is true 04. [fboth Conclusion I and Conclusion II are true

05. Ifeither Conclusion I or Conclusion II is

true

Q-72  Fraferf wairs wa &, Foat # fafor qeat % o= water R o 81 Fom, e 1ie 1% 3 Rkt 7 srqee F2a 81 o 7o ot 5

ATY U7 TSR 7 rega 9 37 3T 39T 1 791 F

FITA>C>D>E; F>G=H<A
Ao
I. A>F
ILF>A

01. =f2 Faer Aot 19 21
03. =f2 Fger AR a7 21
05. IfE 77 a7 fAehd [ =7 Ao 11 77 2

Solution for Question 72

eng

I. A>F (FALSE)
1. F > A (FALSE)

02. FfE 7 qr et &7 7 2 e [ ae7 2

04. =rf3 e 1 =7 Ao 11 341 a7 21

Ans Key: 5

hi

I. A>F (79)
II. F > A (37%7)

Q-73

eng

In each of the following questions, relationship between different elements is shown in the statements. The statements are followed by two conclusions

numbered I and II. Study the conclusions based on the given statements and select the appropriate answer.

Statement: 15>23>64>12=19=61>81=9

Conclusion:
1. 64>61
II. 61 < 15

01. If only Conclusion I is true
03. Ifonly Conclusion IT is true

05. Ifeither Conclusion I or Conclusion IT is

02.
04.

If neither Conclusion I nor Conclusion II is true

If both Conclusion I and Conclusion II are true

true
eferfed wors wor ®, Foei § fate s acdi & 1= gae fe@mam 73 1 w9, e 1807 11 F 37 Aot #7 @ #3d 8| &0 T w0+ %
T Y e 7 STeaae < 37 I ST &1 =997 F



FYA: 15>23>64>12=19=61>81=9

Ao
1. 64>61
II. 61 <15

01. Ff Faer sy [T B
03. Ffx Faer Aoy 1197 g

05. rfg 77 a1 Ao [ 37 fAeed 15T 2

Solution for Question 73

02. rfy 7 qr Aoy [ 3f7 7 & Ao 11 57 81
04. 7fy R [ s Ao 1 341 77 8

Ans Key: 3

eng 1. 64>61 (FALSE)
1. 61 < 15 (TRUE)

hi I. 64> 61 ()
I 61 < 15(%)

Q-74 In each question given below some statements are followed by some conclusions. You have to take the given statements to be true (even if they seem to be

eng at variance from the commonly known facts). Read the conclusions and decide which logically follows. Give answer-

Statements:

Some greater are small.

Only a few maximum are greater.
All maximum are minimum.
Conclusions:

I. All minimum can be maximum.
II. Some greater are minimum.
III. All maximum can be greater.

01. Only IandII follow
03. Only II follows
05. None of these

02. Only I follows
04. Only 11 and III follow

Q-74 T TCUF T H @ FAF ST 9T A2 1 R (&7 T | SATHT &7 T F2A1 &l G AT ¢ (AT F ATHT: J1G a1 F 19 F:97 T 20

Ao 1 q¢ $fi¥ T X F-A7 a1l T9 8 AT FAT gl 3T G900 —

FI:

FAT FF ATTHAH, ATEF &
T STty , ~qAaH 2|
R

I T =aH, AfFaq g1 aad g

1. % T3, AaH &

TIL T srfarra, oTfa 21 95 2

01. =< I T 11 SATETT F2d 2

03. Fae 1l SAqEeor HLal gl

05. =z & 7S

02. Fae [ STET FIAT B
04. sae 11 i€ [ SAFE9r H%d g

Solution for Question 74 AnsKey: 1
eng
ral Greater

£

——)

——

T
hi

sﬁﬂ




Q-75

eng

In each question given below some statements are followed by some conclusions. You have to take the given statements to be true (even if they seem to be
at variance from the commonly known facts). Read the conclusions and decide which logically follows. Give answer-

Statements:

All @ are #.

Some % are #.

Only a few @ are &.
Conclusions:

I. Some & are %.
II. Some # are not &.
III. All & can be #.

01. Only I and II follow 02. Only]I follows
03. Only II follows 04. Only II and III follow

05. None of these
A= TAF T § g FAT 3T IHF A1E Fg (ASRY (27 T 1 AR T3 T FI7 7 TF AT 8 (T F AT AT T2AT H T7T 77297 T 2711
e i1 q¢ Sfi¥ T X FF-97 qTihh &9 F AT FLAT g1 3L G970 —

FI:
Tl @, # 81

T %, # B

FIA G 2l @, & B
Ao

I F3 &, %2

L %I #, & 721

IIL Tt &, # BT 9t 21

01. =< [ T 11 SATETI Fd 2 02. et [ STTELOT FLAT 2l
03. et 11 STIEYT FaT 2| 04. et I1 37T I STTETT Fd g
05. =% F F1E Tl

Solution for Question 75 Ans Key: 4

Q-76

cing

G
0

In each question given below some statements are followed by some conclusions. You have to take the given statements to be true (even if they seem to be
at variance from the commonly known facts). Read the conclusions and decide which logically follows. Give answer-

Statements:

All 0 are 05.

All 05 are 03.

Only a few 06 are 03.
Conclusions:

I. Some 03 are 0.

II. Some 06 are not 03.
II1. All 0 are 03.

01. Only I and II follow 02. Only I follows
03. Only II follows 04. Only IT and 111 follow

05. None of these
F= TAF ToT § g FAT ST IHH A1E Fg (AR T T ) ST 7 T FAAT F A TEAAT 8 (AT F AT AT AT 4T 40T 8
e &7 9 ¥ T T FIA-AT ATCRE T FJTELT FHAT gl IAL 00 —

ER G H

T+ 0, 05 2

T+T 05, 03 Bl

FAT FZ 2T 06, 03 T
IRLED P



L %= 03,0%
II. % 06, 03 T21 &l
IIL &+ft 0, 03 21

01. 33t [ 37 I1 SATET0T Fd 2
03. Faef 1 ATHTT FET 2

02. Fae | STHTOT FHAT gl
04. Faet 11 3/ [T ST FXd &

05. =8 & #1E T
Solution for Question 76 Ans Key: 5
eng
03
05 Wah
i
%
hi
03

05\ /%A
@ i

Passage for Question 77, 78, 79 (ST-219CRPBCLPRE(1-3R)2020)
eng Passage

Study the given information and answer the questions given below.

Vix is the mother of Balm who is the sister of Chrocin. Disprin is son of Chrocin. Aspirin is the brother of Disprin. Balm is not married. Flonaze is the mother of

Aspirin. Glucose is the granddaughter of Vix. Glucotrol has only two children, Balm and Chrocin.

hi Passage

T ATTRT FTHETTA FX AT A FET T I35 F ST

Foe, e & A A et 1 Rfer, e e &1 fefe, R 1w o ot il g v, e e 1 v
forerer 2 Sg-3iev 81 TeRTaler % oot 41 o, AT ST FI &)

Q-77

Q-77
hi

How is Flonaze related to Glucotrol?

01. Son-in-law
03. Father-in-law

05. Cannot be determined

R, T B A T 32

01. gq-za-AT
03. wrET-A-af
05. Ayt 7t forar ST awar

02.
04.

02.
04.

Daughter-in-law
Granddaughter

trr Tt

¥e.

)

SICES

Solution for Question 77 Ans Key: 2
eng - i
Vix Glucotrol
Balm Chrocin Flonaze
Izlispn'n P:spirin Glucose
hi



aH il el

Tl

Q-78  How is Chrocin related to Aspirin?
eng
01. Father 02. Son
03. Mother 04. Sister
05. None of these
Q-78  HITaA, URIRA & #4 Hafed 82
hi
01. foar 02. x
03. H1ET 04. ==
05. =H q FIE A1
Solution for Question 78 Ans Key: 1
WVix === Glucotrol
Balm Chrocine==—==Flonaze
Disprin Aspirin Glucose
aH —— FIaa ==kl
Q-79  Who is the mother of Glucose?
01. Chrocin 02. Balm
03. Flonaze 04. Balm or Flonaze
05. Chrocin or Flonaze
Q-79 At TR
hi
01. e 02. Im™
03. oA 04. ST IT T
05. A =T FAA
Solution for Question 79 Ans Key: 3
eng ” 4
Vix Glucotrol
Balm Chrocin Flonaze
I:.lispn'n P:spirin Glucose
hi

ﬁ_;_iﬂ_ P



I\

LS SR

Passage for Question 80, 81, 82, 83, 84 (ST-219CRPBCLPRE(4-8R)2020)
eng Passage

Study the given information and answer the questions given below.

height.

persons are between D and B. D is taller to B.

hi Passage

T TE ITAFRT FT 779 FL A THR frg g st F 3=
e {8 A, B, C, D, E 31T F ST+ ¥ aTE & a7t & 70 %7 § @ &) 797 #7 9@ 397 67 T 21 w12 of 27 ey e &7 orwars 6 721 81

Six friends A, B, C, D, E and F are standing in descending order of their height from left to right side. All are facing towards north. No two of them have same

One person is between A and C. E and A is taller to C. Only two persons are shorter than C. One person is between E and F. F is not the tallest. At least two

TFATE AT CFNTHZ ENTA, C T AT gl Fa a7 oAk C T HIE &l UF A E AT F F 19 § g F 999 a7 Agl ¢| 9 T FH a7 =A<k D 3T B

F AT HE D, BHAAT

Q-80 Who among the following is the tallest in the group?

01. A 02. B
03. C 04. D
05. E

Q-80 fAwforfead # | F19 qaq @41 82

01. A 02. B
03. C 04. D
05. E

Solution for Question 80

D>A>E>C>F>B
D>A>E>C>F>B

Ans Key: 4

Q-81  How many persons are between A and B?
eng

01. ¢ 02. 1
03. 2 04. 3

05. 4
Q-81 A=Y BF &= o =afxr 22

01. o 02. 1
03. 2 04. 3
05. 4

Solution for Question 81

Ans Key: 4

i D>A>E>C>F>B

B D>A>E>C>F>B




Q-82  Who amongst the following is the shortest?
eng

01. B
03. F

05. None of these
Q-82 fffaa ¥ F#9 aa9 SeTe?

01. B
03. F
05. =1 & F1E T

Solution for Question 82

02.
04.

02.
04.

Ans Key: 1

i D>A>E>C>F>B

i D>A>E>C>F>B

Q-83 Who amongst the following is the second tallest?
eng

03. A
05. F
Q-83 fAwforfea & & w9 gavT w=® w41 82

01. E
03. A
05. F
Solution for Question 83

D>A>E>C>F>B
D > A > Hr CaVHEY TS

Q-84 How many people are shorter than D?

01. None
03. More than four

05. Four
Q-84 DIFATAMEILE?

01. #7575

03. =17 atfas

05. 91T
Solution for Question 84

02.
04.

02.
04.

02.
04.

02.
04.

BorD

BIaTD

Ans Key: 3

Three

Two

ol

Ans Key: 3

e D>A>E>C>F>B

- D>A>E>C>F>B

eng Passage

V sits second to the left of P. Q sits third to the right of W.

Passage for Question 85, 86, 87, 88, 89 (ST-219CRPBCLPRE(9-13R)2020)

Study the given information and answer the questions given below.

Eight friends P, Q, R, S, T, U, V and W are sitting in a circle, but not necessarily in the same order. Three of them are facing outside.
T faces outside, both the immediate neighbors of T face the center. W sits second to the right of T. Q sits third to the left of T.
S faces the center. Both the immediate neighbors of S face outside.




U is an immediate neighbor of S. R is an immediate neighbor of V.
S is not an immediate neighbor of Q.

hi Passage
T ATARTE FTHETTA FL A TAA FEg g w30 F 3w

AT P,Q,R, S, T, U, VT W UF I H I 8, AT STl Agl 1% THT 17 § gl 377 & A JTg¥ T A7 39 TF &

T AT T AT T@AT S, T F AT (Ahedq TEHT %7 T oY 39 T gl W, T % IT0 F oL &9 9T I3T g1 Q, T F JTU F q16Y #I11 U gl
S T q@ F% T AT 21 S F TAT Ahedd TS a8 T AT 3@q

V,P % AT 8 THY B9 I 3257 81 Q, W F ITT & T ®I19 T Bl

U, S &T TewTel T2THT g1 R, V &1 Tehret T2l gl

S, Q FT qHT TETHT AT &

Q-85 ‘Who amongst the following sits exactly between U and R (and is also their neighbour)?
eng

0L v 02. W
03. p 04. Q

05. None of these
Q-85 fAwforfed § & %19 U ST R F 1= J3aT & (3T 3707 =TT A 8)?

01. v 02. W

03. p 04. Q

05. =it & s T
Solution for Question 85 AnsKey: 4

R
3 0
W L
P .
1
W

Q-86 How many people are seated between P and Q (counting clockwise from P)?
eng

01. Two 02. Four

03. None 04. One

05. Three
Q-86  P=AT Q (P ¥ zferomad R gu) & &= fohaet T a8 €2
hi

01. =y 02. 91T

03. =g =gl 04. ux

05. fiT
Solution for Question 86 Ans Key: 5

eng R

L ——



W

Q-87 If all the people are made to sit in alphabetical order, in clockwise direction, starting from P, the position of whom amongst the following remains the same
eng (excluding P)?

01. Two 02. Four
03. None 04. One
05. Three

Q-87 =T T ART P & BIH fEA0Tad [T H, JUIHTAT 7 § 95 I, a1 Meferiaa § & fraeht fufa a9 w=dt g (P Fl sEF9)?

01. =7 02. 9%
03. Frg 921 04. TF
05. fiw
Solution for Question 87 Ans Key: 4
R
a Q

g

Q-88 Four of the following five are alike in a certain way, and so form a group. Which is the one that does not belong to that group?
eng

01. QU 02. RQ
03. wv 04. PW
05. SU

Q-88 fRwfofea wiw # & 9 us [ a8 & uF 39 2, o7 Ao UF 94 a9 8| 98 I 971 ¢ ST 39 qYg F qafed el &7

01. QU 02. RQ



03. wv 4. PW
05. SU
Solution for Question 88

eng R

W

W

Q-89 Who amongst the following sits third to the right of U?

01. S 02. p
03. W 04. v

05. None of these
Q-89 fwferfea & ¥ W UF ard fiawr aer 82

01. s 02. p
03. w 04. v
05. =7H ¥ FIE Tal

Solution for Question 89

eng R

w

Ans Key: 2

Ans Key: 2

eng Passage

Passage for Question 90, 91, 92, 93 (ST-219CRPBCLPRE(14-17R)2020)

Study the following information and answer the questions given below.

Ten persons A, B, C, D, E, F, G, H, I, and J are lives on 10-floor building. The lowermost floor is numbered 1, above the floor numbered 2, and so on. Three
persons are living between G and F. G lives an odd-numbered floor but above floor numbered 5. Only one person lives between J and E who is living an




of C. B lives above H. I is not the immediate neighbor of B.

hi Passage

B, H % F9% ¥EaT gl I, B 7T Fheaw T=T=t =1 2

odd prime-number floor. One person lives between C and A. Two floors are there between D and 1. Neither F nor G are immediately above or immediately below

frafrfaa STaerd s srsgaa w2 HTA= frrTgyst s 39

g =RE A, B, C,D,E, F, G, H, I, 3% ] U= 10 iorar s0a & ¥2d &1 e A=t #isrer it 1@ear 1 g, 36 39 Y wiore 9eam 2 8, ST ol T amr
<t 19 =3f<F G 37T F % &9 § T8 81 G U faww €@t areft #iore a2 w2t €, dfeh @i #@ear 5 7 392 g1 #aa U =<6 J 3T E% §i=9 wgar g, sir
oo sraTST HEAT ATet |HiSre 9% TEAT g1 U Afh C 37T AT d19 Tgart gl D &< 1% o= ¥ T /o 1 TaTF T T &1 G, C F T 9L T T A1 8l

Q-90  How many persons lives above H?
eng

01. 2
03. 4

05. None of these
Q-90  H¥ 37 farw =fvr wea 82

01. 2

03. 4

05. ==H T FIS 75l
Solution for Question 90

]
_— A
A= s
) H
| A
I
2 C
1 J

Q-91  Which of the following statement is true ?
eng

01. H and D are immediate neighbors of F.
03. D lives on fifth floor.

05. Jlives in bottom-most floor.

Q-91 Fwfafed § | F9-97 FJ9 97 872

01. HsfiT D, F 3 98T €

03. D gf=ei " 9% T5ar &l

05. JHa# i #iorer # Tgar g
Solution for Question 91

eng 10
9

i lw ) o: AT

8
7
“

02.
04.

02.
04.

02.
04.

F lives three floors below D.
All of these

. F,D & &= "ot s wgar 21
. SUO a9t

Ans Key: 3

Ans Key: 5



N PR [0 I 1
|y |m | [

hi 10 I
9 G
8 B
7 D
6 H
5 F
4 A
3 E
2 C
1 J
Q-92 If H and E interchange the positions, who among the following lives immediately above E’s floor?
eng
01. G 02. A
03. C 04. 1
05. None of these
Q-92  =fT H 3T E 94T I 99 § 9RAfdd w2d &, a1 [Mafarad #§ F Fi9 E F Jioe F qEa F9% a1 82
hi
01. G 02. A
03. C 04. 1
05. =H ¥ FIS TRt
Solution for Question 92 Ans Key: 5
eng 10 Y
9 G
8 B
7 D
6 H
4 A
3 E
2 C
>
hi 0TI S
9 |
8 B |
7 gty |
6 H
4 A
3 E
2 C
1 J
Q-93  How many floors between A and E?
eng
01. None 02. Four
03. Two 04. One
05. Three
Q-93  ASTEF &= 7 fhaet Afoer 82
hi
01. = a@ 02. 97T
03. =1 04. TF
05. qiF
Solution for Question 93 Ans Key: 1
eng 10 1
9 G

8 B




= | | L | =D
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Passage for Question 94, 95, 96, 97, 98 (ST-219CRPBCLPRE(22-26R)2020)
eng Passage

Read the given information and answer the questions given below:

Ten persons are seated in two parallel rows, each having six seats. Two seats are vacant. L, M, N, O and P are sitting in Row-1 and facing north direction. Q, R, S,
T and U are sitting in Row-2 and facing south direction. They all like different colors among Indigo, Blue, Green, Violet, Yellow, Orange, Red, White, Pink and
Black but not necessarily in the same order.

No person sits between S and T, who is facing P. P sits immediate left of vacant seat. S faces L, who likes Red color. Q likes Green color sits fourth to the left of S.
The person who likes Indigo sits fourth to the right of person who likes Yellow. M likes Blue and sits at the extreme end. P doesn’t like Yellow and the person who
likes Yellow faces north direction. U likes Pink color and sits at one of the extreme ends. O sits fourth to the left of the person who likes Indigo colour. R likes
Orange colour and sits third to the left of the person who likes Black colour. The person who likes Violet colour and the person who likes White colour are facing
each other. The person who likes Violet colour sits second to the right of O.

hi Passage

L IrAHT ug sh A= frwrw ot F 39w d:

T SAH 1AM A1 | 92 8, S8 & 73 8§ 2 91 g1 &1 die @it gl L, M, N, O 3T PUfth -1 # 9% g 3ffT 3 far &t s 4@ U gu gl Q,
R, S, T 3T U tfcr -2 ® 9% g T aferor feem it ¥ 7@ 3w gu 81 o+t 7 SterT- s 7 2=, e, g2, Sk, dier, arsf, e, 9%, [t s
AT H THE FLA & AR ST el 1o Uh ot 7% 2Tl

Fre oft =< S 3 T 9 721 J31E, ST PF AHA ¢l PETST He F WA a0 a1 21 S, LF ama g, S A ST w62 81 Q A g T U6 g AT A8 S 7
T =T T 9 G| S =71 SR 9ee HiXaT & 98 S§ =416 & a70 e =7 337 ¢ Sora frar 47 78w 81 M it et 1HE 2 s sifdw s e der 21 Py
| T 7 AT TR g ST ST AR G 7 96T AT 8, g I R ¥ ST I@ar g1 U F [ATET 37 99 g S Sy g # | R uw v der 81 0
ST 7 96E L qTe] AT 6 97U AT AT g1 R AT 37 THE FAT ¢ AT FTAT W1 THE T2 aTed A<k o6 970 AT S 19T g1 ST 1<k sl T T8
FIAT ¢ 3T STT ATF AHaE T TS FAT @ 9 T THL & T g1 ST SAT<h S¥IHT 37 968 F:AT ¢, 98 O % JT0 AT AT 8

Q-94  Who is immediate neighbor of vacant place of row -2?
eng

01. SandR 02. TandN
03. RandT 04. PandN

05. None of these
Q-94  Tf<F -2 % < ®A19 F Tow T A 22

hi

01. S3TR 02. THTN

03. R3fTT 04. PiTN

05. =% T IS Al
Solution for Question 94 Ans Key: 3
eng Pink Black White Orange Green

u s T * R Q

"

ar
O L P * N M

Yellow Red Violet Indiec BRBlue




O L P * N M

Q-95 What is the position of O with the respect of P?
eng

01. Third to the left 02. Fifth to the right
03. Fifth to the left 04. Second to the left
05. Cannot be determined
Q-95 PFEaATH O HT feurfa T 82
hi
01. e FEeT 02. =0 qi=at
03. =TT =T 04. 1T gET
05. fRetfa 72t o ST aear
Solution for Question 95
Pink Black White Orange Green
U S T * R Q
O [ P * N M
Yellow Red Violet Indigo Blue
AT I Fine AT &
U S 1 * R O
O I P %* N M
=T AT HITAT =T Hrar

Q-96 Four of the following five are alike in a certain way and so form a group which is the one that does not belong to that group?

01. U,N 02. L N

03. S,Q 04. Q,0

05. S,0
Q-96 f=forfad o= & & 9 uF A% T8% ¥ UF 99 2 o7 TH0 UF 94 a9 & i 39 q4g J 9aiad Tai g2
hi

01. U,N 02. L,N

03. 5,Q 04. Q,0

05. S,0

Solution for Question 96

Ans Key: 4

Ans Key: 4

2L Pink Black White Orange Green

B = 1] *= R B

5
1r

O Iy P % N M

Yellow Red Violet Indigo Blue
il I wicn w Circ i
U S T * R Q

\og
S



O L P * N M
g e J9rEr sfEar  Hrar

Q-97  Which of the following is correct?

eng
01. U is opposite to L 02. P sits at the end of line
03. Two people sits between Q and T 04. None is true
05. M is neighbor of the person who likes Violet
color
Q-97 fAwfafad & & %19 a1 Fa7 97 22
hi
01. U,L % fAda 2l 02. P 4f<hF 3fd & S=q1 21
03. Q 3T T 1= a7 ANT 93 Bl 04. =TS fF T7 TE 2
05. M 3 =xf<h FT TEET g ST AT 4T
THT FAT B
Solution for Question 97 Ans Key: 4
eng Pink Black White Orange Green
U S U R Q
O I P N M
Yello Re "iolet Indigo Blue
AT Il TR 0.55,;, =1
[ S I R Q
O I P N M
drem = 9T 2o HArar
Q-98 T likes which color?
01. Violet 02. White
03. Indigo 04. Black
05. Yellow
Q-98 T FI AT W1 IHE &2
01. Frere 02. T%z
03. =f=m 04. =TT
05. d=T
Solution for Question 98 Ans Key: 2
eng Pink Black White Orange Green

T & o ] * R Q

"
4>

O L P * N M

Yellow Red Violet Indigo Blue
B wien TR AN T
S T * R Q




Passage for Question 99, 100 (ST-219CRPBCLPRE(30-31R)2020)
eng Passage

i. A ?Bmeans A is to the right of B at a distance of two metre.
ii. A * B means A is to the North of B at a distance of two metre.
iii. A +B means A is to the left of B at a distance of two metre.

iv. A % B means A is to the South of B at a distance of two metre.
v. In each of the following questions, all persons face North.

hi Passage
Trforfera st o2 i< = fg 1o oo 36 3=

i. A?BFTAT A, BF IAT AT AT e A T T2
ii. A*BFTTA,BF I H aT HIeT &l g X &

iii. A+BTT A, BF ATl 317 a7 Hied it T AT &
iv. A%B®T T A, B aferor # a7 #fex i g e B

v. Fuferfa o wr §, i safte sav & & 3= 2

Q-99 If T % Q + R * P then P is in which direction with respect to T?

01. South-east 02. FEast
03. North 04. North-east

05. None of these
Q-99 FART%Q+R*PEATP, T dae # o frem # 82

Read the following information and answer the questions given below:

01. =frorod 02. F
03. 397 04. Wqé
05. =% ¥ FIS 721
Solution for Question 99 Ans Key: 2
2
Q=R
2 2
T P
2
Q R
2 2
T P
Q-100 IfC?D%E ?F then F is in which direction and how far with respect to D?
eng
01. 3m - South-east 02. 32 - West
03. 2v2 - North 04. 22 - North-West
05. None of these
Q-100 = C?D%E?FarF,D 3 dae # o faom # oiw fhaeit g2 22
hi
01. 3%t - =feror-ga 02. 323t - afer
03. 2+2#Y - 3TT 04. 22T - ITT-Tfae
05. =% T FIS Al
Solution for Question 100 Ans Key: 4

eng
F—2 ___F






